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♣❧✐✇✐❡ ✉➟❛t✇✐➟♦ r❡❛❧✐③❛❝❥➛ t❡❣♦ ❝❡❧✉✳ ❖❞ t❡❣♦ ❝③❛s✉ ✇✐❡❧❡ s✐➛ ③♠✐❡♥✐➟♦✱ ❥❡❞♥❛❦ ♣♦❞st❛✇→
tr❛♥s♣♦rt✉ ♥❛③✐❡♠♥❡❣♦ ✇❝✐→➺ st❛♥♦✇✐ ♣r♦st❡ ❦♦➟♦✳ ❈③❛s t♦ ③♠✐❡♥✐➣✱ ❝③❛s ♥❛ ❦♦❧❡❥→ r❡✇♦❧✉✲
❝❥➛✱ ❝③❛s ♥❛ ✇✐r✉❥→❝→ ♣ó➟s❢❡r➛∗✦ P✐❡r✇s③❡ ♣r❛❝❡ ♥❛ ♥❛♣➛❞❡♠ ③ ✉➺②❝✐❡♠ ✇✐r✉❥→❝❡❥ ♣ó➟s❢❡r②
r♦③♣♦❝③➛t♦ ♣r❛✇✐❡ ✶✵✵ ❧❛t t❡♠✉ ❬✼❪✱ ❥❡❞♥❛❦ ♣r③❡③ ❞➟✉❣✐❡ ❧❛t❛ ♥❛♣➛❞ t❡♥ ♥✐❡ ③②s❦❛➟ ♣♦♣✉✲
❧❛r♥♦➧❝✐✳

◆✐♥✐❡❥s③❛ ♣r❛❝❛ st❛♥♦✇✐ ❦♦♥t②♥✉❛❝❥➛ ❜❛❞❛➠ ♥❛❞ r♦❜♦t❡♠ ♠♦❜✐❧♥②♠ ♥❛♣➛❞③❛♥②♠ ❞✇✐❡✲
♠❛ ✇✐r✉❥→❝②♠✐ ♣ó➟s❢❡r❛♠✐ r♦③♣♦❝③➛t②❝❤ ✇ ❬✸❪✳ P♦♣r③❡❞♥✐♦ ③♦st❛➟② ♣r③❡❞st❛✇✐♦♥❡ ♥✐❡✲
✇→t♣❧✐✇❡ ③❛❧❡t② ♥❛♣➛❞✉ t②♣✉ ❍❖● ✇ ♣♦st❛❝✐ ♦❣r♦♠♥❡❥ ③✇r♦t♥♦➧❝✐ ✐ ♥❛t②❝❤♠✐❛st♦✇②❝❤
♣r③②➧♣✐❡s③❡➠✳ ❲②♣r♦✇❛❞③♦♥♦ ✇t❡❞② ❥❡❞②♥✐❡ ♠♦❞❡❧❡ ❦✐♥❡♠❛t②❦✐ r♦❜♦t❛ ♦r❛③ ③❜❛❞❛♥♦ ❥❡✲
❣♦ ♣♦❞st❛✇♦✇❡ ③❛❝❤♦✇❛♥✐❡✱ ❥❡❞♥❛❦ ➺❡❜② ✇ ♣❡➟♥✐ ✇②❦♦r③②st❛➣ ♣♦t❡♥❝❥❛➟ r♦❜♦t❛ ③ t❛❦✐♠
♥❛♣➛❞❡♠ ♥❛❧❡➺② ♥❛✉❝③②➣ s✐➛ ♥❛❞ ♥✐♠ ♣❛♥♦✇❛➣✳ ❲ ✇②♦❜r❛➵♥✐ ❛✉t♦r❛ ♥❛r♦❞③✐➟❛ s✐➛ ✇✐③❥❛
➧✇✐❛t❛ ✇ ❦tór②♠ ✇s③②st❦✐❡ ❦♦➟♦✇❡ ♣♦❥❛③❞② ③♦st❛➟② ✇②♣❛rt❡ ♣r③❡③ ❛✉t♦♥♦♠✐❝③♥❡ r♦❜♦t②
♠♦❜✐❧♥❡ ♥❛♣➛❞③❛♥❡ ♣ó➟s❢❡r❛♠✐✱ ❦tór❡ s❛♠❡ ③❛♣❧❛♥✉❥→ ✐ ✇②③♥❛❝③→ tr❛s➛ ❛ ♣♦t❡♠ ③❛✇✐♦③→
♥❛s ❞♦ ✇②❜r❛♥❡❥ ❞❡st②♥❛❝❥✐✳ ❲♣r❛✇❞③✐❡ t❛ ✇✐③❥❛ ❥❡st ❞❛❧❡❝❡ ♦❞❧❡❣➟❛✱ ❛❧❡ ♣✐❡r✇s③②♠ ❦r♦✲
❦✐❡♠ ✇ ❥❡❥ ❦✐❡r✉♥❦✉ ❜➛❞③✐❡ ③❛♣❡✇♥❡ ❞♦❦➟❛❞♥❡ ③r♦③✉♠✐❡♥✐❡ ♠♦➺❧✐✇♦➧❝✐ st❡r♦✇❛♥✐❛ t❛❦✐♠
r♦❜♦t❡♠✳ ❚❡♥ ✇➟❛➧♥✐❡ ♣r♦❜❧❡♠ st❛r❛ s✐➛ r♦③✇✐→③❛➣ ♥✐♥✐❡❥s③❛ ♣r❛❝❛✳

❈❡❧❡♠ ♣r❛❝② ❥❡st ♦♠ó✇✐❡♥✐❡ ③❛❣❛❞♥✐❡♥✐❛ st❡r♦✇❛♥✐❛ r♦❜♦t❡♠ ♠♦❜✐❧♥②♠ ✇ ❦♦♥t❡❦➧❝✐❡
r♦❜♦t❛ ♣♦r✉s③❛❥→❝❡❣♦ s✐➛ ♥❛ ❞✇ó❝❤ ✇✐r✉❥→❝②❝❤ ♣ó➟s❢❡r❛❝❤✳ Pr③❡❞st❛✇✐❛♥❡ ③♦st❛♥→ ③❛❞❛♥✐❛
st❡r♦✇❛♥✐❛ ♦r❛③ ❛❧❣♦r②t♠② ♣♦③✇❛❧❛❥→❝❡ ❥❡ r♦③✇✐→③❛➣✳ P♦❦❛③❛♥❡ ③♦st❛♥✐❡ ❥❛❦ ③❛❛❞❛♣t♦✇❛➣
✐st♥✐❡❥→❝❡ ✐ ❞♦❜r③❡ ③♥❛♥❡ ❛❧❣♦r②t♠② ✇ ♣r③②♣❛❞❦✉ ♥❛s③❡❣♦ r♦❜♦t❛ ❛ t❛❦➺❡ ③❛♣r❡③❡♥t♦✇❛♥❡
③♦st❛♥→ ♥♦✇❡✳ ◆❛st➛♣♥✐❡ ♣r③❡♣r♦✇❛❞③♦♥❡ ③♦st❛♥→ ❜❛❞❛♥✐❛ s②♠✉❧❛❝②❥♥❡ ✇ ❝❡❧✉ s♣r❛✇❞③❡✲
♥✐❛ ❞③✐❛➟❛♥✐❛✱ s❦✉t❡❝③♥♦➧❝✐ ♦r❛③ ♠♦➺❧✐✇♦➧❝✐ ✐♠♣❧❡♠❡♥t❛❝❥✐ ♣♦s③❝③❡❣ó❧♥②❝❤ ❛❧❣♦r②t♠ó✇✳

❯❦➟❛❞ ♣r❛❝② ❥❡st ♥❛st➛♣✉❥→❝②✳ ❲ r♦③❞③✐❛❧❡ ✷ ③❞❡✜♥✐♦✇❛❧✐➧♠② ③❛❞❛♥✐❡ st❡r♦✇♥✐❛ ♦r❛③
s❝❤❛r❛❦t❡r②③♦✇❛❧✐➧♠② ♦❣ó❧♥❡ ❛❧❣♦r②t♠② st❡r♦✇❛♥✐❛✳ ◆❛st➛♣♥✐❡ ✇ r♦③❞③✐❛❧❡ ✸ ♣r③②t♦❝③②❧✐✲
➧♠② ✇②♣r♦✇❛❞③♦♥❡ ✇ ❬✸❪ ♠♦❞❡❧❡ ✐ ♣♦❦❛③❛❧✐➧♠② ✐♠♣❧❡♠❡♥t❛❝❥❡ ❛❧❣♦r②t♠ó✇ ❞❧❛ ♥✐❝❤ ♦r❛③
③❛♣r♦♣♦♥♦✇❛❧✐➧♠② ❛✉t♦rs❦✐❡ r♦③✇✐→③❛♥✐❛ ♣r♦❜❧❡♠✉ st❡r♦✇❛♥✐❛✳ ❲ ❞❛❧s③❡❥ ❝③➛➧❝✐ ✭r♦③❞③✐❛➟
✹✮ ♣r③❡❞st❛✇✐❧✐➧♠② ✇②♥✐❦✐ ❜❛❞❛➠ s②♠✉❧❛❝②❥♥②❝❤ ♣♦❦❛③✉❥→❝❡ ❞③✐❛➟❛♥✐❡ ♣♦s③❝③❡❣ó❧♥②❝❤ ❛❧✲
❣♦r②t♠ó✇✱ ♦♠ó✇✐❧✐➧♠② ró✇♥✐❡➺ ✐❝❤ ✇❛❞②✱ ③❛❧❡t② ♦r❛③ ♠♦➺❧✐✇♦➧➣ ✇②❦♦r③②st❛♥✐❛✴✐♠♣❧❡♠❡♥t❛❝❥✐✳
Pr❛❝❛ ③♦st❛➟❛ ♣♦❞s✉♠♦✇❛♥❛ ✇ r♦③❞③✐❛❧❡ ✺✳

∗❛ ♥❛✇❡t ❞✇✐❡





❘♦③❞③✐❛➟ ✷

❆❧❣♦r②t♠② st❡r♦✇❛♥✐❛

P♦ ✉✇③❣❧➛❞♥✐❡♥✐✉ ♦❣r❛♥✐❝③❡➠✱ ❦tór②♠ ♣♦❞❧❡❣❛ r♦❜♦t ♠♦❜✐❧♥②✱ ❥❡❣♦ ♠♦❞❡❧ ♣r③❡❞st❛✇✐❛ s✐➛
③❛ ♣♦♠♦❝→ ❜❡③❞r②❢♦✇❡❣♦ ✉❦➟❛❞✉ st❡r♦✇❛♥✐❛ ✇ ♣♦st❛❝✐ ❬✻❪

q̇ = G(q)η, ✭✷✳✶✮

❣❞③✐❡ q ∈ R
n✱ q̇ ∈ R

n ♦③♥❛❝③❛❥→ ♦❞♣♦✇✐❡❞♥✐♦ ✇❡❦t♦r ③♠✐❡♥♥②❝❤ ❦♦♥✜❣✉r❛❝②❥♥②❝❤ ♦r❛③ ✐❝❤
♣r➛❞❦♦➧❝✐✱ G(q) ∈ R

n×m ❥❡st ♠❛❝✐❡r③→ st❡r♦✇❛➠✱ ③❛➧ η ∈ R
m ✇❡❦t♦r❡♠ ♣r➛❞❦♦➧❝✐ ♣♦♠♦❝✲

♥✐❝③②❝❤ ✭st❡r♦✇❛➠✮✳ ❉❧❛ t❛❦ ♦♣✐s❛♥❡❣♦ ♠♦❞❡❧✉ r♦❜♦t❛ ♣r♦♣♦♥✉❥❡ s✐➛ ró➺♥♦r❛❦✐❡ ❛❧❣♦r②t♠②
st❡r♦✇❛♥✐❛✱ ♣♦③✇❛❧❛❥→❝❡ ♥❛ r♦③✇✐→③❛♥✐❛ ③❛❞❛♥✐❛ st❡r♦✇❛♥✐❛✳ ❉❧❛ r♦❜♦tó✇ ♠♦❜✐❧♥②❝❤ ♥❛❥✲
❝③➛➧❝✐❡❥ ❞❡✜♥✐✉❥❡ s✐➛ tr③② r♦❞③❛❥❡ ③❛❞❛➠ st❡r♦✇❛♥✐❛ ❬✺❪✿

• st❡r♦✇❛♥✐❡ ❞♦ ♣✉♥❦t✉ ✕ ❞→➺② s✐➛ ❞♦ ③♥❛❧❡③✐❡♥✐❛ t❛❦✐❝❤ st❡r♦✇❛➠ η✱ ❛❜② r♦❜♦t ❞♦❥❡❝❤❛➟
✐ ③❛tr③②♠❛➟ s✐➛ ✇ ✉st❛❧♦♥❡❥ ❦♦♥✜❣✉r❛❝❥✐ qd✱

• ♣♦❞→➺❛♥✐❡ ♣♦ ③❛❞❛♥❡❥ ➧❝✐❡➺❝❡ ✕ ❝❡❧❡♠ t❡❣♦ ❥❡st ✇②③♥❛❝③❡♥✐❡ st❡r♦✇❛➠ η✱ ❦tór❡ ♣♦✲
③✇♦❧→ ♣r♦✇❛❞③✐➣ r♦❜♦t❛ ♣♦ ③❛❞❛♥❡❥ ➧❝✐❡➺❝❡ qd(s) ♣❛r❛♠❡tr②③♦✇❛♥❡❥ ♦❞❧❡❣➟♦➧❝✐→ ❦r③②✲
✇♦❧✐♥✐♦✇→ s✱

• ➧❧❡❞③❡♥✐❡ ③❛❞❛♥❡❥ tr❛❥❡❦t♦r✐✐ ✕ ✇ t②♠ ♣r③②♣❛❞❦✉ ♥❛❧❡➺② t❛❦ ❞♦❜r❛➣ st❡r♦✇❛♥✐❛ η✱
❛❜② r♦❜♦t ♣♦❞→➺❛➟ ♣♦ ③❛❞❛♥❡❥ tr❛❥❡❦t♦r✐✐ qd(t)✱ t②♠ s❛♠②♠ ❜➟→❞ e = q − qd ❞→➺②➟
❞♦ ③❡r❛✳

❲❛rt♦ t✉t❛❥ ❞♦❞❛➣✱ ➺❡ ✇ ♣♦st❛✇✐♦♥②❝❤ ♣♦✇②➺❡❥ ③❛❞❛♥✐❛❝❤ st❡r♦✇❛♥✐❛ ♥✐❡ ③❛✇s③❡ ❥❡st❡✲
➧♠② ③❛✐♥t❡r❡s♦✇❛♥✐ ♦❦r❡➧❧❡♥✐❡♠ ✇❛rt♦➧❝✐ ♣♦➺→❞❛♥②❝❤ ❞❧❛ ❝❛➟❡❣♦ ✇❡❦t♦r❛ q∗✳ ❈③➛st♦❦r♦➣
ró✇♥❛♥✐❛ ✭✷✳✶✮ s→ ✉③✉♣❡➟♥✐❛♥❡ ❞♦❞❛t❦♦✇②♠ ♦❞✇③♦r♦✇❛♥✐❡♠ h(q)✱ st❛♥♦✇✐→❝②♠ ❢✉♥❦❝❥➛
✇②❥➧❝✐❛ ✉❦➟❛❞✉✳

P♦♥✐➺❡❥ ③♦st❛♥→ ♣♦❦rót❝❡ s❝❤❛r❛❦t❡r②③♦✇❛♥❡ ❞✇❛ ❛❧❣♦r②t♠② ♣♦③✇❛❧❛❥→❝❡ ➧❧❡❞③✐➣ ③❛❞❛✲
♥→ tr❛❥❡❦t♦r✐➛✿ ❛❧❣♦r②t♠ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ✐ ❞②♥❛♠✐❝③♥❡❥ ♦r❛③ ❥❡❞❡♥ ❛❧❣♦r②t♠ ➧❧❡❞③❡✲
♥✐❛ ➧❝✐❡➺❦✐✱ ❦tór❡ t♦ ✇ ❞❛❧s③❡❥ ❝③➛➧❝✐ ♣r❛❝② ③♦st❛♥→ ③❛st♦s♦✇❛♥❡ ❞♦ st❡r♦✇❛♥✐❛ r♦❜♦t❡♠
♥❛♣➛❞③❛♥②♠ ♣ó➟s❢❡r❛♠✐✳

✷✳✶ ▲✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛

▲✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛ ♣♦❧❡❣❛ ♥❛ ✇②❜♦r③❡ t❛❦✐❝❤ ✇②❥➧➣ ❧✐♥❡❛r②③✉❥→❝②❝❤✱ ❜② ♥❛st➛♣♥✐❡
♣♦♣r③❡③ s♣r③➛➺❡♥✐❡ ③✇r♦t♥❡ ✉③②s❦❛➣ st❡r♦✇❛♥✐❛ ✉♠♦➺❧✐✇✐❛❥→❝❡ ✐❝❤ ➧❧❡❞③❡♥✐❡ ❬✷❪✳ ❲ t②♠

∗✇ ✇✐❡❧✉ ♣r③②♣❛❞❦❛❝❤ r♦③✇✐→③❛♥✐❡ t❛❦✐❡❣♦ ③❛❞❛♥✐❛ ❥❡st ✇r➛❝③ ♥✐❡♠♦➺❧✐✇❡



✻ ✷✳ ❆❧❣♦r②t♠② st❡r♦✇❛♥✐❛

❝❡❧✉ ✇②❜✐❡r③♠② ✇s♣ó➟r③➛❞♥❡ ❧✐♥❡❛r②③✉❥→❝❡ ✇ ♣♦st❛❝✐ ♦❞✇③♦r♦✇❛♥✐❛†

h(q) : Rn → R
m, ✭✷✳✷✮

♥❛③②✇❛♥❡❣♦ ✇②❥➧❝✐❡♠ ❧✐♥❡❛r②③✉❥→❝②♠✳ P♦ ♣♦❧✐❝③❡♥✐✉ ❥❡❣♦ ♣♦❝❤♦❞♥❡❥

ḣ(q) =
∂h

∂q
q̇, ✭✷✳✸✮

✐ ♣♦❞st❛✇✐❡♥✐✉ q̇ ③ ✉❦➟❛❞✉ ❜❡③❞r②❢♦✇❡❣♦ ✭✷✳✶✮ ♦tr③②♠✉❥❡♠②

ḣ(q) =
∂h

∂q
q̇ =

∂h

∂q
Gη. ✭✷✳✹✮

Pr③②❥♠✐❥♠② ♥❛st➛♣♥✐❡ η ró✇♥❡

η =

(

∂h

∂q
G

)−1
u, ✭✷✳✺✮

❣❞③✐❡ u t♦ ♥♦✇② ✇❡❦t♦r st❡r♦✇❛♥✐❛✱ ❛ R = ∂h
∂q
G t♦ ♠❛❝✐❡r③ ♦❞s♣r③➛❣❛♥✐❛✳ ❲ t❡♥ s♣♦✲

só❜✱ ③❛❦➟❛❞❛❥→❝✱ ➺❡ ✇②③♥❛❝③♥✐❦ ♠❛❝✐❡r③② R ❥❡st ♥✐❡③❡r♦✇②✱ ♦tr③②♠✉❥❡♠② ♠♦❞❡❧ ✉❦➟❛❞✉
③ ♥♦✇②♠ ♣r♦st②♠ ró✇♥❛♥✐❡♠ ró➺♥✐❝③❦♦✇②♠

ḣ = u, ✭✷✳✻✮

❞❧❛ ❦tór❡❣♦ s♣r③➛➺❡♥✐❡ ③✇r♦t♥❡

u = ḣd −K(h− hd), ✭✷✳✼✮

❣❞③✐❡ hd t♦ ③❛❞❛♥❡ h✱ K ∈ R
m×m ✕ ❞♦❞❛t♥✐♦ ♦❦r❡➧❧♦♥❛ ♠❛❝✐❡r③ ✇③♠♦❝♥✐❡➠✱ ♣♦③✇❛❧❛ ♥❛

r♦③✇✐→③❛♥✐❡ ③❛❞❛♥✐❛ st❡r♦✇❛♥✐❛✳ ❖st❛t❡❝③♥✐❡ ♦tr③②♠✉❥❡♠② ❛❧❣♦r②t♠ st❡r♦✇❛♥✐❛ ♦♣✐s❛♥②
✇③♦r❡♠ ✇ ♣♦st❛❝✐

η =

(

∂h

∂q
G

)−1
(ḣd −K(h− hd)), ✭✷✳✽✮

♥❛③②✇❛♠② ❛❧❣♦r②t♠❡♠ st❡r♦✇❛♥✐❛ ♣♦♣r③❡③ st❛t②❝③♥❡ s♣r③➛➺❡♥✐❡ ③✇r♦t♥❡✳

✷✳✷ ▲✐♥❡❛r②③❛❝❥❛ ❞②♥❛♠✐❝③♥❛

▲✐♥❡❛r②③❛❝❥❛ ❞②♥❛♠✐❝③♥❛ ❬✷❪ ❥❡st ③❛③✇②❝③❛❥ st♦s♦✇❛♥❛ t❛♠✱ ❣❞③✐❡ ③❛✇♦❞③✐ ❧✐♥❡❛r②③❛❝❥❛
st❛t②❝③♥❛ ✭det

(

∂h
∂q
G
)

= 0✮✳ ❲ ❝❡❧✉ ③♥❛❧❡③✐❡♥✐❛ st❡r♦✇❛➠ ♣♦♥♦✇♥✐❡ ✇②❜✐❡r③♠② ✇s♣ó➟r③➛❞♥❡
❧✐♥❡❛r②③✉❥→❝❡ ✇ ♣♦st❛❝✐ ♦❞✇③♦r♦✇❛♥✐❛

h(q) : Rn → R
m. ✭✷✳✾✮

❚②♠ r❛③❡♠ ♥❛❧❡➺② ♣♦❧✐❝③②➣ ❞r✉❣→ ♣♦❝❤♦❞♥→ ḧ ❦❛➺❞♦r❛③♦✇♦ ♣♦❞st❛✇✐❛❥→❝ q̇ ③ ✉❦➟❛❞✉ ❜❡③✲
❞r②❢♦✇❡❣♦ ✭✷✳✶✮✳ ◆❛st➛♣♥✐❡ r♦③s③❡r③❛♠② ♣r③❡str③❡➠ st❛♥✉ ✉❦➟❛❞✉ ♣♦♣r③❡③ ✇②❜ór ♥♦✇②❝❤
③♠✐❡♥♥②❝❤ st❡r✉❥→❝②❝❤✳ ❲②❜ór ✉③❛❧❡➺♥✐♦♥② ❥❡st ♦❞ ♣r③②♣❛❞❦✉✱ ❥❡❞♥❛❦ ♥❛❥♦❣ó❧♥✐❡❥s③❛ ♠❡✲
t♦❞❛ ♣♦❧❡❣❛ ♥❛ ✇②❜r❛♥✐✉ ♣♦❝❤♦❞♥②❝❤ ③♠✐❡♥♥②❝❤ ♣♦♠♦❝♥✐❝③②❝❤ η̇✳ ❑♦❧❡❥♥♦ ♣r③❡❦s③t❛➟❝❛♠②
ḧ ❞♦ ♣♦st❛❝✐

ḧ = Kddu+ P, ✭✷✳✶✵✮

†Pr③②❦➟❛❞♦✇❡ ♦❞✇③♦r♦✇❛♥✐❛ ❞❧❛ st❛♥❞❛r❞♦✇②❝❤ r♦❜♦tó✇ ♠♦❜✐❧♥②❝❤ ③♦st❛➟② ♣r③❡❞st❛✇✐♦♥❡ ✇ ❬✷❪



✷✳✸✳ ❆❧❣♦r②t♠ ❙❛♠s♦♥❛ ✼

❣❞③✐❡ u ♦③♥❛❝③❛ ♥♦✇❡ st❡r♦✇❛♥✐❡ ✭✇ ♦❣ó❧♥②♠ ♣r③②♣❛❞❦✉ η̇✮✳ ❩❛❦➟❛❞❛❥→❝✱ ➺❡ ✇②③♥❛❝③♥✐❦
♠❛❝✐❡r③② detKdd ❥❡st ♥✐❡③❡r♦✇②✱ ♠♦➺❡♠② ♣r③②❥→➣ ③❛ u

u = K−1dd (−P + v). ✭✷✳✶✶✮

❚❛❦✐❡ ♣♦❞st❛✇✐❡♥✐❡ s♣r♦✇❛❞③❛ ró✇♥❛♥✐❡ ✭✷✳✶✵✮ ❞♦ ♣♦st❛❝✐ ♣♦❞✇ó❥♥❡❣♦ ✐♥t❡❣r❛t♦r❛

ḧ = v. ✭✷✳✶✷✮

Pr③②❥♠✉❥→❝ t❡r❛③ st❡r♦✇❛♥✐❡ v ❥❛❦♦

v = ḧd −K1(ḣ− ḣd)−K2(h− hd), ✭✷✳✶✸✮

❣❞③✐❡ K1, K2 ∈ R
m×m ✕ ❞♦❞❛t♥✐♦ ♦❦r❡➧❧♦♥❡ ♠❛❝✐❡r③❡ ✇③♠♦❝♥✐❡➠✱ hd ✕ ③❛❞❛♥❡ h✱ ♠♦➺✲

♥❛ ③❛❣✇❛r❛♥t♦✇❛➣ ➧❧❡❞③❡♥✐❡ ③❛❞❛♥❡❥ tr❛❥❡❦t♦r✐✐ hd✳ ❖st❛t❡❝③♥✐❡ ♦tr③②♠❛♠② ró✇♥❛♥✐❛ ♥❛
♣♦❝❤♦❞♥❡ st❡r♦✇❛➠

η̇ = u = K−1dd (−P + ḧd −K1(ḣ− ḣd)−K2(h− hd)). ✭✷✳✶✹✮

❲ t❡♥ s♣♦só❜ ✉❦➟❛❞ ✭✷✳✶✮ ③♦st❛➟ r♦③s③❡r③♦♥② ♦ ❞♦❞❛t❦♦✇❡ ③♠✐❡♥♥❡
(

q̇

η̇

)

=

(

Gη

K−1dd (−P + ḧd −K1(ḣ− ḣd)−K2(h− hd))

)

. ✭✷✳✶✺✮

❏❡➧❧✐ ✇ ḧ ♥✐❡ ✇②st➛♣✉❥❡ ❦tór❛➧ ③ s❦➟❛❞♦✇②❝❤ η̇ ✇ ❥❡❥ ♠✐❡❥s❝❡ ♠♦➺♥❛ ✇②❜r❛➣ ♣♦ ♣r♦st✉ η✳
❲ó✇❝③❛s ③ ró✇♥❛♥✐❛ ✭✷✳✶✺✮ ♦tr③②♠❛♠② ❜❡③♣♦➧r❡❞♥✐♦ ✇③ór ♥❛ st❡r♦✇❛♥✐❡ ❛ ♥✐❡ ❥❡❣♦ ♣♦✲
❝❤♦❞♥→✳

✷✳✸ ❆❧❣♦r②t♠ ❙❛♠s♦♥❛

❆❧❣♦r②t♠ ❙❛♠s♦♥❛ ❬✶❪✱ ✇ ♦❞ró➺♥✐❡♥✐✉ ♦❞ ♣r③❡❞st❛✇✐♦♥②❝❤ ❞✇ó❝❤ ♣♦♣r③❡❞♥✐❝❤✱ ♣♦③✇❛✲
❧❛ ♥❛ r♦③✇✐→③❛♥✐❡ ③❛❞❛♥✐❛ ♣♦❞→➺❛♥✐❛ ♣♦ ➧❝✐❡➺❝❡✳ ❲ t②♠✱ ♠✐❡❥s❝✉ ③♦st❛➟ ♦♥ ✇s♣♦♠♥✐❛♥②
❥❡❞②♥✐❡ ❞❧❛ ❦♦♠♣❧❡t♥♦➧❝✐ r♦③❞③✐❛➟✉✱ ❣❞②➺ ❥❡❣♦ ♣♦st❛➣ ③❛❧❡➺② ♦❞ ♠♦❞❡❧✉ ✉❦➟❛❞✉✱ ❞❧❛ ❦tó✲
r❡❣♦ ③♦st❛➟ ③❛♣r♦♣♦♥♦✇❛♥② ✐ st→❞ ❥❡❣♦ ❦♦♥str✉❦❝❥➛✱ ❥❛❦ ✐ s♣♦só❜ ✇②❦♦r③②st❛♥✐❛✱ ♦♣✐s❛♥♦
✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✷✳✸✳





❘♦③❞③✐❛➟ ✸

■♠♣❧❡♠❡♥t❛❝❥❛ ❛❧❣♦r②t♠ó✇ st❡r♦✇❛♥✐❛

●➟ó✇♥②♠ ③❛❞❛♥✐❡♠ ♣♦st❛✇✐♦♥②♠ ✇ ♣r❛❝② ❥❡st ♣ró❜❛ st❡r♦✇❛♥✐❛ r♦❜♦t❡♠ ♣♦r✉s③❛❥→❝②♠
s✐➛ ♥❛ ❞✇ó❝❤ ♣ó➟s❢❡r❛❝❤✳ ❲ ♣r❛❝② ❬✸❪ ✇②♣r♦✇❛❞③♦♥♦ ❥❡❣♦ ró➺♥❡ ♠♦❞❡❧❡✳ P♦♥✐➺❡❥ ❞❧❛ ❦♦♠✲
♣❧❡t♥♦➧❝✐ ♣r❛❝② ❥❡ ♣r③②t♦❝③②♠②✱ ❛ ♥❛st➛♣♥✐❡ ♣r③❡❞st❛✇✐♠② ✐♠♣❧❡♠❡♥t❛❝❥❡ ❛❧❣♦r②t♠ó✇
st❡r♦✇❛♥✐❛ ③ r♦③❞③✐❛➟✉ ✷ ✭♦r❛③ ❦✐❧❦✉ ♥♦✇②❝❤✮ ❞❧❛ t②❝❤➺❡✳ ❑❛➺❞♦r❛③♦✇♦ ♣♦❦❛③❛♥❡ ③♦st❛♥✐❡
❥❛❦✐❡ ✇②❜r❛➣ ♦❞✇③♦r♦✇❛♥✐❛ ❧✐♥❡❛r②③✉❥→❝❡ ✐ ❥❛❦✐❡ ♠❛ t♦ ♥❛st➛♣st✇❛✳ ❖♠ó✇✐♦♥❡ ③♦st❛♥→
ró✇♥✐❡➺ ✇❛❞② ✐ ③❛❧❡t② ♣♦s③❝③❡❣ó❧♥②❝❤ r♦③✇✐→③❛➠∗✳

✸✳✶ ▼♦❞❡❧❡ ♣❡➟♥❡

❲ ♣r❛❝② ❬✸❪ ③♦st❛➟ ♣r③❡❞st❛✇✐♦♥② ♠♦❞❡❧ r♦❜♦t❛ ♣♦r✉s③❛❥→❝❡❣♦ s✐➛ ♥❛ ❞✇ó❝❤ ♣ó➟s❢❡r❛❝❤✱
♦♣✐s❛♥❡❣♦ ✇❡❦t♦r❡♠ ❦♦♥✜❣✉r❛❝②❥♥②♠ q = (x, y, θ0, φ1, θ1, ψ1, φ2, θ2, ψ2)

T ✭③♦❜❛❝③ r②s✉♥❡❦
✸✳✶✮✱ ❣❞③✐❡ x✱ y ✕ ♣♦➟♦➺❡♥✐❡ ➧r♦❞❦❛ ♣✐❡r✇s③❡❥ ♣ó➟s❢❡r②✱ θ0 ✕ ♦r✐❡♥t❛❝❥❛ r♦❜♦t❛✱ φi✱ θi ✇②✲
❝❤②❧❡♥✐❛ ✐✲t❡❥ ♣ó➟s❢❡r② ❛ ψi ❥❡❥ ✇✐r♦✇❛♥✐❡✱ i = 1, 2✳ ◆❛st➛♣♥✐❡ ✇②♣r♦✇❛❞③♦♥❡ ③♦st❛➟② ❞✇❛
ró✇♥♦✇❛➺♥❡ ✉❦➟❛❞② ❜❡③❞r②❢♦✇❡ ✭✷✳✶✮✱ ❞❛♥❡ ❥❛❦♦✿

• ♠♦❞❡❧ r♦❜♦t❛ ③ ❜❡③♣♦➧r❡❞♥✐♠ st❡r♦✇❛♥✐❡♠ ✇②❝❤②❧❡♥✐❛♠✐ ✐ ❥❡❞♥②♠ ✇✐r♦✇❛♥✐❡♠















































































ẋ = Rsθ0η1 +Rcθ0cφ1η2 +R(sθ0sθ1 − cθ0cθ1sφ1)η3
ẏ = −Rcθ0η1 +Rsθ0cφ1η2 −R(cθ0sθ1 + sθ0cθ1sφ1)η3
θ̇0 =

R
2l
(− cot θ2sφ2η1 − cφ1η2 + (cθ1sφ1 − cot θ2sθ1sφ2)η3+

+ cot θ2sφ2η4 + cφ2η5)
φ̇1 = η1
θ̇1 = η2
ψ̇1 = η3
φ̇2 = η4
θ̇2 = η5
ψ̇2 = csc θ2(η1 + sin θ1η3 − η4)

, ✭✸✳✶✮

∗▼♥✐❡❥ ✇♣r❛✇♥❡♠✉ ❝③②t❡❧♥✐❦♦✇✐ ③❛❧❡❝❛ s✐➛ ♣♦ ③❛♣♦③♥❛♥✐✉ ③ ♦♣✐s❛♥→ ♣♦♥✐➺❡❥ str✉❦t✉r→ r♦❜♦t❛ r♦③♣♦✲
❝③➛❝✐❡ t❡❣♦ r♦③❞③✐❛➟✉ ♦❞ ♣♦❞r♦③❞③✐❛➟✉ ✸✳✸✳



✶✵ ✸✳ ■♠♣❧❡♠❡♥t❛❝❥❛ ❛❧❣♦r②t♠ó✇ st❡r♦✇❛♥✐❛

❳

❨

x

y

θ0

ψ1

ψ2

φ1

φ2

θ1

θ2

l

l
R

❘②s✉♥❡❦ ✸✳✶✿ ▼♦❞❡❧ r♦❜♦t❛ ♣♦r✉s③❛❥→❝❡❣♦ s✐➛ ♥❛ ❞✇ó❝❤ ♣ó➟s❢❡r❛❝❤

• ♠♦❞❡❧ r♦❜♦t❛ ③ ❜❡③♣♦➧r❡❞♥✐♠ st❡r♦✇❛♥✐❡♠ ✇✐r♦✇❛♥✐❛♠✐ ✐ tr③❡♠❛ ✇②❝❤②❧❡♥✐❛♠✐











































































ẋ = Rsθ0η1 +Rcθ0cφ1η2 +R(sθ0sθ1 − cθ0cθ1sφ1)η3
ẏ = −Rcθ0η1 +Rsθ0cφ1η2 −R(cθ0sθ1 + sθ0cθ1sφ1)η3
θ̇0 =

R
2l
(−cφ1η2 + cθ1sφ1η3 + cφ2η4 − cθ2sφ2η5)

φ̇1 = η1
θ̇1 = η2
ψ̇1 = η3
φ̇2 = η1 + sθ1η3 − sθ2η5
θ̇2 = η4
ψ̇2 = η5

, ✭✸✳✷✮

❣❞③✐❡ R ♦③♥❛❝③❛ ♣r♦♠✐❡➠ ♣ó➟s❢❡r②✱ l t♦ ♣♦➟♦✇❛ ♦❞❧❡❣➟♦➧❝✐ ♠✐➛❞③② ➧r♦❞❦❛♠✐ ♣ó➟s❢❡r ③❛➧ c� ✐
s� t♦ st❛♥❞❛r❞♦✇♦ cos� ✐ sin�✳ ❯❦➟❛❞② t❡ ♥❛③②✇❛➣ ❜➛❞③✐❡♠② ♠♦❞❡❧❛♠✐ ♣❡➟♥②♠✐ r♦❜♦t❛✳

❲ t②♠ ♠✐❡❥s❝✉ ✇❛rt♦ ✇s❦❛③❛➣ ❦✐❧❦❛ ✇➟❛➧❝✐✇♦➧❝✐ ♣♦✇②➺s③②❝❤ ♠♦❞❡❧✐ ✐ ❜✉❞♦✇② ✜③②❝③✲
♥❡❣♦ r♦❜♦t❛✳ P♦ ♣✐❡r✇s③❡✱ ✇ ♠♦❞❡❧✉ ✭✸✳✶✮ ✇②st➛♣✉❥❡ ❞③✐❡❧❡♥✐❡ ♣r③❡③ sin θ2✱ ♥❛❧❡➺② ✇✐➛❝
✉♥✐❦❛➣ st❡r♦✇❛➠✱ ❦tór❡ ♣r♦✇❛❞③→ ❞♦ ③❡r♦✇❛♥✐❛ s✐➛ ❦→t❛ θ2✱ ❣❞②➺ ♠♦➺❡ t♦ ♣r♦✇❛❞③✐➣ ❞♦ ♣♦✲
❥❛✇✐❡♥✐❛ s✐➛ ♦❣r♦♠♥②❝❤ ✇❛rt♦➧❝✐ st❡r♦✇❛♥✐❛ ψ̇2✳ ❑♦❧❡❥♥♦ ③❛✉✇❛➺♠② ✐➺ ✇ ♠♦❞❡❧✉ ✭✸✳✷✮ ♥✐❡
♠♦➺❡♠② ❜❡③♣♦➧r❡❞♥✐♦ st❡r♦✇❛➣ ❦→t❡♠ φ2✱ ❝♦ ♠♦➺❡ ♣r♦✇❛❞③✐➣ ❞♦ ♣♦❥❛✇✐❡♥✐❛ s✐➛ ✇❛rt♦➧❝✐
t❡❣♦ ❦→t❛ ♣r③❡❦r❛❝③❛❥→❝②❝❤ ✜③②❝③♥❡ ♦❣r❛♥✐❝③❡♥✐❛ ✇②♥✐❦❛❥→❝❡ ③ ❦♦♥str✉❦❝❥✐ r③❡❝③②✇✐st❡❣♦
r♦❜♦t❛† ✭φi, θi ∈ [−π

2
, π
2
]✮ ♥✐❡ ✉✇③❣❧➛❞♥✐♦♥❡ ✇ ♦❣r❛♥✐❝③❡♥✐❛❝❤ ♥✐❡❤♦❧♦♥♦♠✐❝③♥②❝❤✳ P♦♥✐➺❡❥

♣r③❡❞st❛✇✐♠② ❦✐❧❦❛ ❛❧❣♦r②t♠ó✇ st❡r♦✇❛♥✐❛ ❞❧❛ ♦❜✉ ✇②♣r♦✇❛❞③♦♥②❝❤ ♠♦❞❡❧✐✳

†❲ ♣r❛❝② ❬✸❪ ♣♦❦❛③❛♥❛ ③♦st❛➟❛ ♣r③②❦➟❛❞♦✇❛ ❦♦♥str✉❦❝❥❛ r♦❜♦t❛ ♦r❛③ ♦♠ó✇✐♦♥♦ ♦❣r❛♥✐❝③❡♥✐❛ ✜③②❝③♥❡
✇②♥✐❦❛❥→❝❡ ③ t❛❦✐❡❥ ❜✉❞♦✇②✳



✸✳✶✳ ▼♦❞❡❧❡ ♣❡➟♥❡ ✶✶

✸✳✶✳✶ ▲✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛

❲ ❝❡❧✉ ③❛st♦s♦✇❛♥✐❛ ❛❧❣♦r②t♠✉ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ❞♦ ♦♣✐s❛♥❡❣♦ ♣♦✇②➺❡❥ r♦❜♦t❛✱ ❥❛❦♦
✇❡❦t♦r ✇②❥➧➣ ✇②❜✐❡r③♠② tr②✇✐❛❧♥❡ ♦❞✇③♦r♦✇❛♥✐❡ ✇ ♣♦st❛❝✐

h(q) =

















x

y

θ0
ψ1
ψ2

















. ✭✸✳✸✮

❲②❜ór tr③❡❝❤ ♣✐❡r✇s③②❝❤ ✇②❥➧➣ ❥❡st ♦❝③②✇✐st②✱ ❣❞②➺ ❝❤❝❡♠② ♠✐❡➣ ♠♦➺❧✐✇♦➧➣ st❡r♦✇❛♥✐❛
♣♦③②❝❥→ ✐ ♦r✐❡♥t❛❝❥→ r♦❜♦t❛✳ ❑→t② ψi ③♦st❛➟② ✇②❜r❛♥❡✱ ♣♦♥✐❡✇❛➺ ✇ r③❡❝③②✇✐st②♠ r♦❜♦✲
❝✐❡ ✇②❣♦❞♥✐❡ ❥❡st✱ ❛❜② ♣r➛❞❦♦➧➣ ✇✐r♦✇❛♥✐❛ ♣ó➟s❢❡r ❜②➟❛ st❛➟❛✱ ❞♦❞❛t❦♦✇♦ ③✇✐➛❦s③❛❥→❝ ❥→
♠♦➺❡♠② ③♠♥✐❡❥s③②➣ ❛♠♣❧✐t✉❞② ✇②❝❤②❧❡➠✳ ❉❧❛ t❛❦ ✇②❜r❛♥❡❣♦ ✇❡❦t♦r❛ st♦s✉❥❡♠② ❛❧❣♦✲
r②t♠ ✭✷✳✽✮✳ ◆❛❧❡➺② ❥❡❞♥❛❦➺❡ ③✇ró❝✐➣ ✉✇❛❣➛ ♥❛ ✇❛rt♦➧➣ ✇②③♥❛❝③♥✐❦❛ ♠❛❝✐❡r③② ∂h

∂q
G✳ ❉❧❛

♠♦❞❡❧✉ ✭✸✳✶✮ ✇②♥♦s✐ ♦♥❛

det

(

∂h

∂q
G

)

= −
R3 csc θ2 cosφ1 cosφ2

2l
, ✭✸✳✹✮

❛ ❞❧❛ ♠♦❞❡❧✉ ✭✸✳✷✮

det

(

∂h

∂q
G

)

= −
R3 cosφ1 cosφ2

2l
. ✭✸✳✺✮

❏❛❦ ✇s♣♦♠♥✐❛♥♦ ✇❝③❡➧♥✐❡❥✱ ✜③②❝③♥❡ ♦❣r❛♥✐❝③❡♥✐❛ r♦❜♦t❛ s♣r❛✇✐❛❥→✱ ➺❡ ❦→t② φi ♥✐❡ ♠♦❣→
♦s✐→❣♥→➣ ✇❛rt♦➧❝✐ π

2
✱ ❛ ❝♦ ③❛ t②♠ ✐❞③✐❡ st❡r♦✇❛♥✐❡ ❞③✐❛➟❛ ✇ ❞♦♣✉s③❝③❛❧♥②❝❤ ③❛❦r❡s❛❝❤

✇②❝❤②❧❡➠✳ ❉♦❞❛t❦♦✇♦ ♥❛ ✇②③♥❛❝③♥✐❦ ✭✸✳✹✮ ❥❡st ♣♦st❛✇✐♦♥❡ t❛❦✐❡ s❛♠♦ ♦❣r❛♥✐❝③❡♥✐❡ ❥❛❦
♥❛ s❛♠ ♠♦❞❡❧ ✭✸✳✶✮✱ t♦ ③♥❛❝③② θ2 6= 0✳

✸✳✶✳✷ ▲✐♥❡❛r②③❛❝❥❛ ❞②♥❛♠✐❝③♥❛

❲ ❝❡❧✉ ③❛st♦s♦✇❛♥✐❛ ❛❧❣♦r②t♠✉ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥✱ ❥❛❦♦ ✇❡❦t♦r ✇②❥➧➣ ✇②❜✐❡r③♠②
♣♦♥♦✇♥✐❡ tr②✇✐❛❧♥❡ ♦❞✇③♦r♦✇❛♥✐❡ ✇ ♣♦st❛❝✐

h(q) =

















x

y

θ0
ψ1
ψ2

















. ✭✸✳✻✮

❑♦❧❡❥♥♦ ♣♦st➛♣✉❥❡♠② ③❣♦❞♥✐❡ ③ ③❛s❛❞→ ♦♣✐s❛♥→ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✷✳✷✳ ❲ t②♠ ♣r③②♣❛❞❦✉
♥❛❧❡➺② ③✇ró❝✐➣ ✉✇❛❣➛ ♥❛ ✇❛rt♦➧➣ ✇②③♥❛❝③♥✐❦❛ ♠❛❝✐❡r③② Kdd✳ ❉❧❛ ♠♦❞❡❧✉ ✭✸✳✶✮ ✇②♥♦s✐
♦♥❛

detKdd = −
R3 csc θ2 cosφ1 cosφ2

2l
, ✭✸✳✼✮

❛ ❞❧❛ ♠♦❞❡❧✉ ✭✸✳✷✮

detKdd = −
R3 cosφ1 cosφ2

2l
. ✭✸✳✽✮

❏❛❦ ✇✐❞❛➣ ♦❜❛ ✇②③♥❛❝③♥✐❦✐ s→ t❛❦✐❡ s❛♠❡ ❥❛❦ ✇ ♣r③②♣❛❞❦✉ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ✭♣♦❞✲
r♦③❞③✐❛➟ ✸✳✶✳✶✮✳



✶✷ ✸✳ ■♠♣❧❡♠❡♥t❛❝❥❛ ❛❧❣♦r②t♠ó✇ st❡r♦✇❛♥✐❛

✸✳✶✳✸ ❆❧❣♦r②t♠ ❏P❚❉

❏❛❦ ③♦st❛➟♦ t♦ ♦♣✐s❛♥❡ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✸✳✺✱ ✇ tr❛❦❝✐❡ ❛♣❧✐❦❛❝❥✐ ❛❧❣♦r②t♠ó✇ st❡r♦✇❛♥✐❛
❞♦ ♠♦❞❡❧✉ s②♠✉❧t❛♥✐❝③♥❡❣♦ r♦❜♦t❛ ✭♣♦❞r♦③❞③✐❛➟ ✸✳✸✮ ♣♦❥❛✇✐➟ s✐➛ ♣♦♠②s➟ ✐❝❤ ✉♣r♦s③❝③❡♥✐❛✱
♣r♦✇❛❞③→❝② ❞♦ ♦♣r❛❝♦✇❛♥✐❛ ❛❧❣♦r②t♠✉ ♥❛③✇❛♥❣♦ ♣r③❡③ ❛✉t♦r❛ ❏P❚❉✳ P♦♥✐➺❡❥ ♣r③❡❞st❛✲
✇✐♠② ✐♠♣❧❡♠❡♥t❛❝❥➛ ❛❧❣♦r②t♠✉ ❏P❚❉ ❞❧❛ ♠♦❞❡❧✉ ✭✸✳✷✮‡✳

❲ ♣✐❡r✇s③❡❥ ❦♦❧❡❥♥♦➧❝✐ ③❛✉✇❛➺♠②✱ ➺❡ st❡r♦✇❛♥✐❡ ✇②❝❤②❧❡♥✐❛♠✐ η1✱ η2 ✐ η4 ♠❛ ③♥❛❝③→❝♦
♠♥✐❡❥s③② ✇♣➟②✇ ✭♥❛✇❡t ♦ r③→❞✮ ♥❛ ♣r➛❞❦♦➧➣ ♣♦st➛♣♦✇→ r♦❜♦t❛ ♦r❛③ ③♠✐❛♥➛ ❥❡❣♦ ♦r✐❡♥t❛❝❥✐
♥✐➺ ♣r➛❞❦♦➧❝✐ ✇✐r♦✇❛♥✐❛ ♣ó➟s❢❡r η3 ✐ η5✳ Pr③② t❛❦✐♠ ③❛➟♦➺❡♥✐✉ ♠♦➺♥❛ ✉♣r♦➧❝✐➣ ♠❛❝✐❡r③
st❡r♦✇❛➠ G ♠♦❞❡❧✉ ✭✸✳✷✮ ③ ♣♦st❛❝✐

G(q) =



































Rsθ0 Rcθ0cφ1 Rcc1 0 0
−Rcθ0 Rsθ0cφ1 −Rsc1 0 0
0 −R̄cφ1 −R̄cθ1sφ1 −R̄cφ2 −R̄cθ2sφ2
1 0 0 0 0
0 1 0 0 0
0 0 1 0 0
1 0 sθ1 0 −sθ1
0 0 0 1 0
0 0 0 0 1



































, ✭✸✳✾✮

❣❞③✐❡ cc1 = sθ0sθ1 − cθ0cθ1sφ1 ✱ sc1 = (cθ0sθ1 − sθ0cθ1sφ1)✱ R̄ =
R
2l
✱ ❞♦ ♣♦st❛❝✐

G(q) =



































0 0 Rcc1 0 0
0 0 −Rsc1 0 0
0 0 −R̄cθ1sφ1 0 −R̄cθ2sφ2
1 0 0 0 0
0 1 0 0 0
0 0 1 0 0
1 0 sθ1 0 −sθ1
0 0 0 1 0
0 0 0 0 1



































. ✭✸✳✶✵✮

◆❛st➛♣♥✐❡ ✉➺②✇❛♠② t❛❦ ✉♣r♦s③❝③♦♥→ ♠❛❝✐❡r③ ✇ ❛❧❣♦r②t♠✐❡ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ✭♣♦❞✲
r♦③❞③✐❛➟ ✷✳✷✮§✳ ❖❞✇③♦r♦✇❛♥✐❡ h(q) ✇②❜✐❡r❛♠② t❛❦✐❡ s❛♠♦ ❥❛❦ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✶✳✷✳ ❙❦✉t✲
❦✉❥❡ t♦ ✇②③♥❛❝③♥✐❦✐❡♠ ♠❛❝✐❡r③② Kdd ✇ ♣♦st❛❝✐

det (Kdd) = −
R3η3

2η5 sin θ2 cos
2 θ1 sinφ2 cosφ1
2l

. ✭✸✳✶✶✮

❖③♥❛❝③❛ t♦✱ ➺❡ ❞❧❛ ♣♦♣r❛✇♥❡❣♦ ❞③✐❛➟❛♥✐❛ ❛❧❣♦r②t♠✉ ♦❜✐❡ ♣ó➟s❢❡r② ♠✉s③→ ✇✐r♦✇❛➣✱ ❛ ✇②✲
❝❤②❧❡♥✐❛ φ2 ✐ θ2 ♥✐❡ ♠♦❣→ ❜②➣ ③❡r♦✇❡✳

✸✳✷ ▼♦❞❡❧ ✉♣r♦s③❝③♦♥②

❲ ♣r❛❝② ❬✸❪ ③♦st❛➟♦ ♣♦❦❛③❛♥❡ ♣♦❞♦❜✐❡➠st✇♦ ♣♦♠✐➛❞③② ♠♦❞❡❧❡♠ r♦❜♦t❛ ♣♦r✉s③❛❥→❝❡✲
❣♦ s✐➛ ♥❛ ✷ ♣ó➟s❢❡r❛❝❤ ❛ r♦❜♦t❡♠ ❦❧❛s② ✭✶✱ ✷✮ ③ ❞✇♦♠❛ s❦r➛t♥②♠✐ ❦♦➟❛♠✐ ♦ ③♠✐❡♥✲
♥②❝❤ ♣r♦♠✐❡♥✐❛❝❤ ✭③♦❜❛❝③ r②s✉♥❡❦ ✸✳✷✮ ✱ ♦♣✐s❛♥❡❣♦ ✇❡❦t♦r❡♠ ③♠✐❡♥♥②❝❤ ❦♦♥✜❣✉r❛❝②❥♥②❝❤

‡❆♥❛❧♦❣✐❝③♥→ ♠❡t♦❞➛ ✉♣r♦s③❝③❛♥✐❛ ♠❛❝✐❡r③② G ♣ró❜♦✇❛♥♦ ③❛st♦s♦✇❛➣ ❞❧❛ ♠♦❞❡❧✉ ✭✸✳✶✮ ❥❡❞♥❛❦ ♥✐❡

✉❞❛➟♦ s✐➛ ③♥❛❧❡➵➣ ♦❞✇③♦r♦✇❛➠ ♣r③② ❦tór②❝❤ ✇②③♥❛❝③♥✐❦✐ det
(

∂h
∂q
G
)

✭❞❧❛ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥✮ ❧✉❜



✸✳✷✳ ▼♦❞❡❧ ✉♣r♦s③❝③♦♥② ✶✸

❳

❨

x

y

θ0

θu1

θu2

φu1

φu2

ru1

ru2

❘②s✉♥❡❦ ✸✳✷✿ ▼♦❞❡❧ r♦❜♦t❛ ③ ❞✇♦♠❛ s❦r➛t♥②♠✐ ❦♦➟❛♠✐

q = (x, y, θ0, θu1, φu1, θu2, φu2, ru1, ru2)
T ✱ ❣❞③✐❡ x✱ y ✕ ♣♦➟♦➺❡♥✐❡ ➧r♦❞❦❛ ♣✐❡r✇s③❡❣♦ ❦♦➟❛✱ θ0

✕ ♦r✐❡♥t❛❝❥❛ r♦❜♦t❛✱ θui ✕ s❦r➛❝❡♥✐❡ ✐✲t❡❣♦ ❦♦➟❛✱ φui ✕ ❥❡❣♦ ✇✐r♦✇❛♥✐❡ ❛ rui ✕ ❥❡❣♦ ♣r♦♠✐❡➠✱
i = 1, 2✳ ❲②♣r♦✇❛❞③♦♥② t❛❦➺❡ ③♦st❛➟ ✉❦➟❛❞ ❜❡③❞r②❢♦✇② ♦♣✐s✉❥→❝② t❛❦✐❡❣♦ r♦❜♦t❛ ✇ ♣♦st❛❝✐







































































ẋ = cos (θ0 + θu1)ru1η2
ẏ = sin (θ0 + θu1)ru1η2
θ̇0 = csc θu2 sin (θu1 − θu2)

ru1
2l
η2

θ̇u1 = η1
φ̇u1 = η2
θ̇u2 = η3
φ̇u2 = csc θu2 sin θu1

ru1
ru2
η2

ṙu1 = η4
ṙu2 = η5

, ✭✸✳✶✷✮

❣❞③✐❡ l t♦ ♣♦➟♦✇❛ ♦❞❧❡❣➟♦➧❝✐ ♣♦♠✐➛❞③② ❦♦➟❛♠✐✳ ❲ ♣♦✇②➺s③②♠ ♠♦❞❡❧✉ ✇②st➛♣✉❥❡ ❞③✐❡❧❡♥✐❡
♣r③❡③ sin θu2✱ ❛ ✇✐➛❝ ♥❛❧❡➺② t❛❦ ❞♦❜✐❡r❛➣ st❡r♦✇❛♥✐❡✱ ❛❜② ✉♥✐❦♥→➣ s②t✉❛❝❥✐✱ ❣❞② ❦→t θu2
③❡r✉❥❡ s✐➛✳ ◆❛❧❡➺② ❥❡❞♥❛❦ ③✇ró❝✐➣ ✉✇❛❣➛ ♥♦ t♦✱ ➺❡ ❣❞② ♦❜❛ ❦→t② θu1 ✐ θu2 ró✇♥♦❝③❡➧♥✐❡
♦s✐→❣♥→ ③❡r♦ ♣r♦❜❧❡♠ ♥✐❡ ✇②st➛♣✉❥➛✳ ❑♦❧❡❥♥♦ ③❛✉✇❛➺♠②✱ ✐➺ ✇ ♠♦❞❡❧✉ ✭✸✳✶✷✮ ♣r➛❞❦♦➧➣
♣♦st➛♣♦✇→ ❦ó➟ ♠♦➺❡♠② ③✇✐➛❦s③②➣ ③❛ró✇♥♦ ♣♦♣r③❡③ ❜❡③♣♦➧r❡❞♥✐❡ st❡r♦✇❛♥✐❡ ♣r➛❞❦♦➧❝✐→ ✐❝❤
✇✐r♦✇❛♥✐❛ ❥❛❦ ✐ ③♠✐❛♥→ ✇✐❡❧❦♦➧❝✐ ♣r♦♠✐❡♥✐❛✳ ❇❛r❞③✐❡❥ ✐♥t✉✐❝②❥♥❡ ✇②❞❛❥❡ s✐➛ ❜②➣ st❡r♦✇❛♥✐❡
♣r➛❞❦♦➧❝✐→ ✇✐r♦✇❛♥✐❛✱ ❣❞②➺ ♣r③❡❦➟❛❞❛ s✐➛ ♦♥❛ ❜❡③♣♦➧r❡❞♥✐♦ ♥❛ ♣r➛❞❦♦➧➣ ✇✐r♦✇❛♥✐❛ ♣ó➟s❢❡r
✇ ♠♦❞❡❧✉ ♣❡➟♥②♠ ✭③♦❜❛❝③ ró✇♥❛♥✐❛ ✸✳✶✹✮✳

❲ ♣r❛❝② ❬✸❪ ✇②♣r♦✇❛❞③♦♥♦ ró✇♥✐❡➺ ❢♦r♠✉➟② ♦❦r❡➧❧❛❥→❝❡ ♣r③❡❦s③t❛➟❝❡♥✐❡ ♣♦♠✐➛❞③②
③♠✐❡♥♥②♠✐ st❛♥✉ ♠♦❞❡❧✉ ♣❡➟♥❡❣♦ ✐ ✉♣r♦s③❝③♦♥❡❣♦✱ ♣r③②t♦❝③♦♥❡ ♣♦♥✐➺❡❥ ❞❧❛ ❦♦♠♣❧❡t♥♦✲
➧❝✐✿

φu = ψ,

ru = R
√

cos2 φ(sin2 θ − 1) + 1,

θu = arctan
sin θ

cos θ sinφ
,

✭✸✳✶✸✮

detKdd ✭❞❧❛ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥✮ ❜②➟②❜② ♥✐❡③❡r♦✇❡✳
§P♦st➛♣✉❥→❝ ❛♥❛❧♦❣✐❝③♥✐❡ ❞❧❛ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ♥✐❡ ✉❞❛➟♦ s✐➛ ③♥❛❧❡➵➣ ♦❞✇③♦r♦✇❛♥✐❛ ♣r③② ❦tór②♠

♠❛❝✐❡r③ ♦❞s♣r③➛❣❛♥✐❛ ♠✐❛➟❛❜② ♥✐❡③❡r♦✇② ✇②③♥❛❝③♥✐❦✳



✶✹ ✸✳ ■♠♣❧❡♠❡♥t❛❝❥❛ ❛❧❣♦r②t♠ó✇ st❡r♦✇❛♥✐❛

♦r❛③ ♣r③❡❦s③t❛➟❝❡♥✐❛ ♦❞✇r♦t♥❡✿

ψ = φu,

φ = ± arccos







√

r2u −R
2
√

tan2(θu) + 1
√

−R2 −R2 tan2(θu) + r2u tan
2(θu)





 ,

θ = ± arcsin





ru tan(θu)

R
√

tan2(θu) + 1



 .

✭✸✳✶✹✮

P♦♥✐➺❡❥ ③♦st❛♥→ ♣♦❦❛③❛♥❡ ❛❧❣♦r②t♠② st❡r♦✇❛♥✐❛ ❞❧❛ ♠♦❞❡❧✉ ✭✸✳✶✷✮✳

✸✳✷✳✶ ▲✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛

◆❛ ♣♦❝③→t❦✉ ♣♦♥♦✇♥✐❡ ③❛st♦s✉❥❡♠② ❛❧❣♦r②t♠ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥✳ ❲ t②♠ ♣r③②♣❛❞❦✉
♦❞✇③♦r♦✇❛♥✐❡ h(q) ♥✐❡ ❜➛❞③✐❡ ❥✉➺ tr②✇✐❛❧♥❡✳ ❆❜② ✉♥✐❦♥→➣ ③❡r♦✇❡❣♦ ✇②③♥❛❝③♥✐❦❛ ♠❛❝✐❡r③②
∂h
∂q
G ❥❛❦♦ ♣✉♥❦t ♣r♦✇❛❞③❡♥✐❛ r♦❜♦t❛✱ st❛♥♦✇✐→❝② ❞✇✐❡ ♣✐❡r✇s③❡ ③♠✐❡♥♥❡ ❧✐♥❡❛r②③✉❥→❝❡✱ ♥✐❡

✇②❜✐❡r③❡♠② ❥❛❦ ♣♦♣r③❡❞♥✐♦ ♣♦③②❝❥✐ ➧r♦❞❦❛ ♣✐❡r✇s③❡❣♦ ❦♦➟❛ r♦❜♦t❛ x✱ y✱ ❛ ♣✉♥❦t ♣r③❡s✉✲
♥✐➛t② ✇③❣❧➛❞❡♠ ♥✐❡❣♦ ♦ ♦❞❧❡❣➟♦➧➣ d✱ ❝♦ ♣r♦✇❛❞③✐ ❞♦ ✇②❥➧❝✐❛ ❧✐♥❡❛r②③✉❥→❝❡❣♦ ✇ ♣♦st❛❝✐¶

h(q) =

















x+ d cos (θu1 + θ0)
y + d sin (θu1 + θ0)

θu2
ru1
ru2

















. ✭✸✳✶✺✮

Pr③② t❛❦ ✇②❜r❛♥②♠ ♦❞✇③♦r♦✇❛♥✐✉ ✇s♣♦♠♥✐❛♥② ✇②③♥❛❝③♥✐❦ ♣r③②❥♠✉❥❡ ✇❛rt♦➧➣ −dru1✳
❲②❜✐❡r❛❥→❝ ❥❛❦♦ tr③❡❝✐❡ ✇②❥➧❝✐❡ θu2 ♠♦➺❡♠② ❦♦♥tr♦❧♦✇❛➣ ❥❡❣♦ ✇❛rt♦➧➣ ✐ ♥✐❡ ❞♦♣✉➧❝✐➣ ❞♦
t❡❣♦✱ ❛❜② ❜②➟❛ ró✇♥❛ ③❡r♦‖✳ ❏❛❦♦ ❞✇❛ ♦st❛t♥✐❡ ✇②❥➧❝✐❛ ✇②❜✐❡r③❡♠② ♣r♦♠✐❡♥✐❡ ❦ó➟✳ ❏❛❦ ❥✉➺
✇s♣♦♠✐♥❛❧✐➧♠② ♦♣t②♠❛❧♥✐❡ ❜②➟♦❜② t✉t❛❥ st❡r♦✇❛➣ ✇✐r♦✇❛♥✐❡♠ ❦ó➟✱ ❥❡❞♥❛❦ ✇ ♣r③②♣❛❞❦✉
❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ❥❡st t♦ ♥✐❡♠♦➺❧✐✇❡✳ ❉♦❞❛t❦♦✇♦✱ ③❛❦➟❛❞❛❥→❝ ➺❡ ♣r♦♠✐❡♥✐❡ ru1 ♦r❛③
ru2 s→ st❛➟❡✱ ❛ ♣r③❡❦s③t❛➟❝❡♥✐❡ ♦❞✇r♦t♥❡ ✭✸✳✶✹✮ ♠❛ ♣♦st❛➣ θ2 = f(ru2, θu2)✱ t❛❦→ ➺❡ θ2 =
0 ⇔ θu2 = 0✱ ♥✐❡ ❞♦♣✉s③❝③❛❥→❝ ❛❜② θu2 = 0✱ ♥✐❡ ❞♦♣✉s③❝③❛♠② θ2 = 0✱ ❝♦ ❥❡st ❦❧✉❝③♦✇❡✱
❣❞② ✉➺②✇❛♠② ♠♦❞❡❧✉ ✭✸✳✶✮✳ ❚❛❦ ✇②❜r❛♥❡ ♦❞✇③♦r♦✇❛♥✐❡ ③♦st❛❥❡ ♥❛st➛♣♥✐❡ ✉➺②t❡ ③❣♦❞♥✐❡
③ ③❛s❛❞→ ♦♣✐s❛♥→ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✷✳✶✳ Pr♦✇❛❞③✐ t♦ ❞♦ ♦tr③②♠❛♥✐❛ ✒♣r③❡♣✐s✉✑ ♥❛ st❡r♦✇❛♥✐❡
♠♦❞❡❧❡♠ ✉♣r♦s③❝③♦♥②♠✳

❲ t②♠ ♣r③②♣❛❞❦✉ ♣♦③♦st❛❥❡ ❥❡s③❝③❡ ❦✇❡st✐❛ ♣r③❡♥✐❡s✐❡♥✐❛ st❡r♦✇❛➠ ✇②❧✐❝③❛♥②❝❤ ❞❧❛
♠♦❞❡❧✉ ✉♣r♦s③❝③♦♥❡❣♦ ♥❛ ♠♦❞❡❧ ♣❡➟♥②✳ ▼♦➺❡♠② t❡❣♦ ❞♦❦♦♥❛➣ ✇ ❞✇ó❥♥❛só❜✿ ✇②❧✐❝③❛❥→❝
st❡r♦✇❛♥✐❛ ❞❧❛ ✉❦➟❛❞✉ ♣❡➟♥❡❣♦ ♣♦ ✇②❧✐❝③❡♥✐✉ st❡r♦✇❛➠ ❞❧❛ ♠♦❞❡❧✉ ✉♣r♦s③❝③♦♥❡❣♦ ✭tr②❜
✒♦✤✐♥❡✑✮✱ ❛❧❜♦ t❡➺ ✇②❧✐❝③❛❥→❝ ❥❡ ♥❛ ❜✐❡➺→❝♦ ✇ tr❛❦❝✐❡ st♦s♦✇❛♥✐❛ ❛❧❣♦r②t♠✉ r♦③✇✐→③✉❥→❝❡❣♦
③❛❞❛♥✐❡ ❞❧❛ ♠♦❞❡❧✉ ✉♣r♦s③❝③♦♥❡❣♦ ✭tr②❜ ✒♦♥❧✐♥❡✑✮✳

❲ ♣r③②♣❛❞❦✉ ✒♦✤✐♥❡✑ ✇ ♣✐❡r✇s③❡❥ ❦♦❧❡❥♥♦➧❝✐ ✇②③♥❛❝③❛♠② tr❛❥❡❦t♦r✐➛ r✉❝❤✉ ✉❦➟❛❞✉
✭✸✳✶✷✮✱ ✭✸✳✶✺✮✱ ✭✷✳✶✮✳ ❑♦❧❡❥♥♦ ✇②❧✐❝③♦♥❡ tr❛❥❡❦t♦r✐❡ ♣r③❡❦s③t❛➟❝❛♠② ♥❛ tr❛❥❡❦t♦r✐➛ ♠♦❞❡❧✉
♣❡➟♥❡❣♦ ③ ✉➺②❝✐❡♠ ♣r③❡❦s③t❛➟❝❡➠ ✭✸✳✶✹✮✳ ❖st❛t❡❝③♥✐❡ ✐❝❤ ♣♦❝❤♦❞♥❡ ③❛❞❛❥❡ s✐➛ ❥❛❦♦ st❡r♦✇❛✲
♥✐❛ ♠♦❞❡❧✉ ✭✸✳✶✮ ❧✉❜ ✭✸✳✷✮✳ ❚❛❦✐❡ ♣♦st➛♣♦✇❛♥✐❡ ♠❛ ♥✐❡✇→t♣❧✐✇❡ ③❛❧❡t② ✇ ♣♦st❛❝✐ ♣r♦st♦t②✱
❥❡❞♥❛❦ ♥✐❡ ♣♦③✇❛❧❛ ❦♦r②❣♦✇❛➣ st❡r♦✇❛➠ ❥✉➺ ✇ tr❛❦❝✐❡ ❥❛③❞② ♠♦❞❡❧❡♠ ♣❡➟♥②♠✳

❉r✉❣→ ♠❡t♦❞→ ❥❡st ♣r③❡♥✐❡s✐❡♥✐❡ ✒♦♥❧✐♥❡✑✳ ❚✉t❛❥ ✐♠♣❧❡♠❡♥t✉❥❡♠② ❛❧❣♦r②t♠ ❦tór② ♥❛
❜✐❡➺→❝♦ ♣r③❡❧✐❝③❛ ✉❦➟❛❞② ✐ st❡r✉❥❡ ♠♦❞❡❧❡♠ ♣❡➟♥②♠ ♥❛ ♣♦❞st❛✇✐❡ st❡r♦✇❛➠ ✇②❧✐❝③♦♥②❝❤ ❞❧❛
♠♦❞❡❧✉ ✉♣r♦s③❝③♦♥❡❣♦ ✇❡❞➟✉❣ s❝❤❡♠❛t✉ ♣♦❦❛③❛♥❡❣♦ ♥❛ r②s✉♥❦✉ ✸✳✸✳ ❲ ❝❡❧✉ ✇②❥❛➧♥✐❡♥✐❛
¶t❛❦✐❡ ♣♦st➛♣♦✇❛♥✐❡ ♦③♥❛❝③❛ ✇♣r♦✇❛❞③❡♥✐❡ ✇ r③❡❝③②✇✐st②♠ r♦❜♦❝✐❡ ❞②s③❧❛ ③✇✐→③❛♥❡❣♦ ③ ♣✐❡r✇s③②♠

❦♦➟❡♠ ✐ ♦❦r❡➧❧❡♥✐❡ tr❛❥❡❦t♦r✐✐ ♣♦➺→❞❛♥❡❥ ❞❧❛ ❥❡❣♦ ❦♦➠❝❛
‖❥❛❦ ✇s♣♦♠♥✐❛♥♦✱ ❣❞② θu2 = 0 ✇ ♠♦❞❡❧✉ ✭✸✳✶✷✮ ♣♦❥❛✇✐❛ s✐➛ ❞③✐❡❧❡♥✐❡ ♣r③❡③ ③❡r♦



✸✳✷✳ ▼♦❞❡❧ ✉♣r♦s③❝③♦♥② ✶✺

qp qu
f

ηuηp g

❛❧❣♦r②t♠
st❡r♦✇❛♥✐❛

❘②s✉♥❡❦ ✸✳✸✿ ❙t❡r♦✇♥✐❡ ✇ tr②❜✐❡ ✒♦♥❧✐♥❡✑

t❡❣♦ s♣♦s♦❜✉ ♣♦st➛♣♦✇❛♥✐❛ ♣r③②❥♠✐❥♠② ♥❛st➛♣✉❥→❝❡ ♦③♥❛❝③❡♥✐❛✿

• q = (x, y, θ0)
T ✕ ✇s♣ó➟r③➛❞♥❡ ❦♦♥✜❣✉r❛❝②❥♥❡ ✇s♣ó❧♥❡ ❞❧❛ ♦❜✉ ♠♦❞❡❧✐✱

• qp = (θ1, φ1, θ2, φ2, ψ1, ψ2)
T ✕ ✇s♣ó➟r③➛❞♥❡ ❦♦♥✜❣✉r❛❝②❥♥❡ ❝❤❛r❛❦t❡r②st②❝③♥❡ ❞❧❛ ♠♦✲

❞❡❧✉ ♣❡➟♥❡❣♦✱

• qu = (θu1, φu1, θu2, φu2, ru1, ru2)
T ✕ ✇s♣ó➟r③➛❞♥❡ ❦♦♥✜❣✉r❛❝②❥♥❡ ❝❤❛r❛❦t❡r②st②❝③♥❡

❞❧❛ ♠♦❞❡❧✉ ✉♣r♦s③❝③♦♥❡❣♦✱

• ηp = (η1, η2, η3, η4, η5)
T ✕ ✇❡❦t♦r st❡r♦✇❛♥✐❛ ❞❧❛ ♠♦❞❡❧✉ ♣❡➟♥❡❣♦✱

• ηu = (ηu1, ηu2, ηu3, ηu4, ηu5)
T ∗∗ ✕ ✇❡❦t♦r st❡r♦✇❛♥✐❛ ❞❧❛ ♠♦❞❡❧✉ ✉♣r♦s③❝③♦♥❡❣♦✱

• f ✕ tr❛♥s❢♦r♠❛❝❥❛ ③♠✐❡♥♥②❝❤ ♠♦❞❡❧✉ ♣❡➟♥❡❣♦ ❞♦ ✉♣r♦s③❝③♦♥❡❣♦✱ qu = f(qp) ✭♥❛
♣♦❞st❛✇✐❡ ✭✸✳✶✸✮✮✱

• g ✕ tr❛♥s❢♦r♠❛❝❥❛ ♦❞✇r♦t♥❛ ❞♦ f ✱ qp = g(qu) ✭♥❛ ♣♦❞st❛✇✐❡ ✭✸✳✶✹✮✮✳

▼♦❞❡❧❡ ✭✸✳✶✮✱ ✭✸✳✷✮ ③♦st❛➟② t❛❦ ✇②♣r♦✇❛❞③♦♥❡✱ ❛❜② st❡r♦✇❛♥✐❛ ηp ♦❞♣♦✇✐❛❞❛➟② ❜❡③♣♦✲
➧r❡❞♥✐♦ ❦♦♥❦r❡t♥②♠ ♣♦❝❤♦❞♥②♠ ✇❡❦t♦r❛ qp✳ ▼♦➺❡♠② ③❛t❡♠ ③❛♠✐❛st s③✉❦❛➣ st❡r♦✇❛➠ ηp
s③✉❦❛➣ ♣r➛❞❦♦➧❝✐ q̇p✳ ❩❛♣✐s③♠② ✇✐➛❝ q̇p ③❛ ♣♦➧r❡❞♥✐❝t✇❡♠ ❢✉♥❦❝❥✐ g

q̇p =
d

dt
g(qu) =

∂g

∂qu
(qu)q̇u. ✭✸✳✶✻✮

❩❛ qu ♣r③②❥♠✉❥❡♠② f(qp)✱ ♥❛t♦♠✐❛st ♣♦❝❤♦❞♥❛ q̇u ③❣♦❞♥✐❡ ③ ♠♦❞❡❧❡♠ ✭✸✳✶✷✮ ♠❛ ♣♦st❛➣

q̇u =























θ̇u1
φ̇u1
θ̇u2
φ̇u2
ṙu1
ṙu2























=





















ηu1
ηu2
ηu3

csc θu2 sin θu1
ru1
ru2
ηu2

ηu4
ηu5





















. ✭✸✳✶✼✮

❙t❡r♦✇❛♥✐❛ ηu ✇②❧✐❝③❛♠② ✉➺②✇❛❥→❝ ❛❧❣♦r②t♠✉ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ❥❛❦ ♣♦❦❛③❛♥♦ ♣♦✇②✲
➺❡❥✳ ❖tr③②♠✉❥❡♠② ✇ó✇❝③❛s ✇③ór ♥❛ ♣♦❝❤♦❞♥❡ q̇u ✇ ❢✉♥❦❝❥✐ ♦❞ qu ✐ q

q̇u =M(qu, q). ✭✸✳✶✽✮

Pr③②❥♠✉❥→❝ qu = f(qp)✱ ❞♦st❛❥❡♠② st❡r♦✇❛♥✐❛ ❞❧❛ ♠♦❞❡❧✉ ✉♣r♦s③❝③♦♥❡❣♦ ❥❛❦♦ ❢✉♥❦❝❥➛
③♠✐❡♥♥②❝❤ st❛♥✉ ♠♦❞❡❧✉ ♣❡➟♥❡❣♦✳ ❖st❛t❡❝③♥✐❡ ♠♦➺❡♠② ③❛♣✐s❛➣ ✇②r❛➺❡♥✐❡ ✭✸✳✶✻✮ ❥❛❦♦

q̇p =
d

dt
g(qu) =

∂g

∂qu
(qu)q̇u =

∂g

∂qu
(f(qp))M(f(qp), q), ✭✸✳✶✾✮

❝♦ ♦❦r❡➧❧❛ s♣♦só❜ ♣♦st➛♣♦✇❛♥✐❛ ♣r③② ♣r③❡♥♦s③❡♥✐✉ st❡r♦✇❛➠ ✒♦♥❧✐♥❡✑✳
∗∗❚❛❦✐❡ ♦③♥❛❝③❡♥✐❡ st♦s✉❥❡♠② t②❧❦♦ ♥❛ ♣♦tr③❡❜② ✇②t➟✉♠❛❝③❡♥✐❛ ♣r③❡♥✐❡s✐❡♥✐❛ st❡r♦✇❛➠ ✇ tr②❜✐❡ ✒♦♥❧✐♥❡✑✳

❉❛❧❡❥ ✇ ♣r❛❝② ♠ó✇✐→❝ ♦ st❡r♦✇❛♥✐❛❝❤ ♠♦❞❡❧✉ ✉♣r♦s③♦♥❡❣♦ ❜➛❞③✐❡♠② ✉➺②✇❛➣ ♣♦ ♣r♦st✉ s②♠❜♦❧✉ η✳



✶✻ ✸✳ ■♠♣❧❡♠❡♥t❛❝❥❛ ❛❧❣♦r②t♠ó✇ st❡r♦✇❛♥✐❛

✸✳✷✳✷ ▲✐♥❡❛r②③❛❝❥❛ ❞②♥❛♠✐❝③♥❛

❲ ♣r③②♣❛❞❦✉ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ♥✐❡ ♣♦❥❛✇✐❛ s✐➛ ♣r♦❜❧❡♠ ③ ③❡r✉❥→❝②♠ s✐➛ ✇②③♥❛❝③✲
♥✐❦✐❡♠ ♠❛❝✐❡r③② ♦❞s♣r③➛❣❛♥✐❛ ∂h

∂q
G✱ st→❞ ♦❞✇③♦r♦✇❛♥✐❡ h(q) ♣r③②❥♠✉❥❡♠② ♣♦♥♦✇♥✐❡ ✇ tr②✲

✇✐❛❧♥❡❥ ♣♦st❛❝✐

h(q) =

















x

y

θu2
ru1
ru2

















. ✭✸✳✷✵✮

▼❛❥→❝ ✇②❜r❛♥❡ ♦❞✇③♦r♦✇❛♥✐❡ ✇②❧✐❝③♠② st❡r♦✇❛♥✐❛ ③❣♦❞♥✐❡ ③ ③❛s❛❞→ ♦♣✐s❛♥→ ✇ ♣♦❞r♦③✲
❞③✐❛❧❡ ✷✳✷✳ ■♥❛❝③❡❥ ♥✐➺ ✇ ♣♦♣r③❡❞♥✐❝❤ ♣r③②♣❛❞❦❛❝❤ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ✉❦➟❛❞ ♥✐❡ r♦③✲
s③❡r③② s✐➛ ♦ ♣♦❝❤♦❞♥❡ ✇s③②st❦✐❝❤ st❡r♦✇❛➠ ❛ t②❧❦♦ ♦ η̇2✱ η̇3✱ η̇4 ✐ η̇5✳ ❲②③♥❛❝③♥✐❦ ♠❛❝✐❡r③②
Kdd ✇②♥♦s✐ det (Kdd) = −r

2
u1η2✱ ❛ ✇✐➛❝✱ ❛❜② st❡r♦✇❛♥✐❡ ❞③✐❛➟❛➟♦✱ ✉❦➟❛❞ ♠✉s✐ ♣♦③♦st❛✇❛➣

✇ r✉❝❤✉ ✭η2 6= 0✮✳
❏❛❦ ✇s♣♦♠♥✐❛♥♦ ✇ ♣♦♣r③❡❞♥✐♠ ♣♦❞r♦③❞③✐❛❧❡✱ ❞♦❝❡❧♦✇♦ ③❛❧❡➺② ♥❛♠ ♥❛ st❡r♦✇❛♥✐✉

♣r➛❞❦♦➧❝✐→ ✇✐r♦✇❛♥✐❛ ❦ó➟✱ ❛ ♥✐❡ ③♠✐❛♥→ ♣r♦♠✐❡♥✐✳ ❲ ♣r③②♣❛❞❦✉ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥
♠♦➺♥❛ t❡❣♦ ❞♦❦♦♥❛➣✳ ❲ t②♠ ❝❡❧✉ ✇②❜✐❡r❛♠② ❛❧t❡r♥❛t②✇♥❡ ♣r③❡❦s③t❛➟❝❡♥✐❡ h(q) ❥❛❦♦

h(q) =

















x

y

θu2
φu1
φu2

















, ✭✸✳✷✶✮

✐ st♦s✉❥❡♠② ❛❧❣♦r②t♠ ♦♣✐s❛♥② ✇ ♣♦❞r♦③❞③✐❛❧❡ ✷✳✷✳ ❚❛❦✐❡ ♣♦st➛♣♦✇❛♥✐❡ ❦♦♠♣❧✐❦✉❥❡ ❥❡❞♥❛❦➺❡
③♥❛❝③→❝♦ ♣♦st❛➣ ✇②③♥❛❝③♥✐❦❛ ♠❛❝✐❡r③② Kdd✱ ❦tór② t❡r❛③ ❥❡st ♦♣✐s❛♥② ✇③♦r❡♠

det (Kdd) = −
r2u1η2

3 sin θ✉✶ csc θ✉✷
r2u2

. ✭✸✳✷✷✮

❚r③❡❜❛ t❛❦➺❡ ❞♦❞❛➣✱ ➺❡ r❡③②❣♥❛❝❥❛ ③❡ st❡r♦✇❛♥✐❛ ♣r♦♠✐❡♥✐❛♠✐ s♣r❛✇✐❛✱ ✐➺ ♣r③❡❦s③t❛➟❝❡♥✐❡
③♠✐❡♥♥②❝❤ st❛♥✉ ♠♦❞❡❧✉ ✉♣r♦s③❝③♦♥❡❣♦ ❞♦ ♠♦❞❡❧✉ ♣❡➟♥❡❣♦ ③❣♦❞♥✐❡ ③ ❢♦r♠✉➟❛♠✐ ✭✸✳✶✹✮
♠♦➺❡ ❜②➣ ♥✐❡♠♦➺❧✐✇❡✳

❲ ♣r③②♣❛❞❦✉ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ♠♦➺❧✐✇❡ ❥❡st ❥❡❞②♥✐❡ ♣r③❡♥✐❡s✐❡♥✐❡ st❡r♦✇❛➠
✇ tr②❜✐❡ ✒♦✤✐♥❡✑ ③❛ró✇♥♦ ❞❧❛ ♦❞✇③♦r♦✇❛♥✐❛ ✭✸✳✷✵✮ ❥❛❦ ✐ ✭✸✳✷✶✮✳

✸✳✷✳✸ ❆❧❣♦r②t♠ ❙❛♠s♦♥❛

Pr③②❜❧✐➺②♠② t❡r❛③ ♣♦❦rót❝❡ ❛❧❣♦r②t♠ ➧❧❡❞③❡♥✐❛ ➧❝✐❡➺❦✐ ❞❧❛ r♦❜♦t❛ ♠♦❜✐❧♥❡❣♦ ③ ❞✇♦♠❛
s❦r➛t♥②♠✐ ❦♦➟❛♠✐ ③❛♣r♦♣♦♥♦✇❛♥② ✇ ❬✶❪✳ ❲ ♣✐❡r✇s③❡❥ ❦♦❧❡❥♥♦➧❝✐ ✇②♣r♦✇❛❞③✐♠② ♦♣✐s ✉❦➟❛✲
❞✉ ✇③❣❧➛❞❡♠ ❞❛♥❡❥ ❦r③②✇❡❥✳ ❲ó✇❝③❛s✱ ✇ ♠✐❡❥s❝❡ st❛♥❞❛r❞♦✇❡❣♦ ♦♣✐s✉ ♣♦➟♦➺❡♥✐❛ ♣✉♥❦t✉
③❛ ♣♦♠♦❝→ ✇s♣ó➟r③➛❞♥②❝❤ ❦❛rt❡③❥❛➠s❦✐❝❤✱ ♦❦r❡➧❧❛♠② ❥❡ ♣r③❡③ ♣♦❞❛♥✐❡ ♦❞❧❡❣➟♦➧❝✐ ♣♦♠✐➛✲
❞③② ♥✐♠ ❛ ❥❡❣♦ ♣r♦❥❡❦❝❥→ ♥❛ ③❛❞❛♥→ ❦r③②✇→ ✐ ♣♦➟♦➺❡♥✐❡♠ ❦r③②✇♦❧✐♥✐♦✇②♠ t❡❥ ♣r♦❥❡❦❝❥✐
♥❛ t❡❥ ❦r③②✇❡❥ ✭③♦❜❛❝③ r②s✉♥❡❦ ✸✳✹ ✕ ♣♦➟♦➺❡♥✐❡ ♣✉♥❦t✉ M ♦❦r❡➧❧♦♥❡ ❥❡st ✇s♣ó➟r③➛❞♥②✲
♠✐ (yc, sc)T ✮✳ ❖③♥❛❝③♠② ♣r③❡③ θc ❦→t st②❝③♥❡❥ ❞♦ ➧❝✐❡➺❦✐ ✇ ♣✉♥❦❝✐❡ P (sc) ✐ ♣r③❡③ cc(s)
❦r③②✇✐③♥➛ ➧❝✐❡➺❦✐✱ t❛❦ ➺❡

θ̇c(sc(t)) = cc(sc(t))ṡc(t). ✭✸✳✷✸✮

P♦❝❤♦❞♥❛ ❦r③②✇✐③♥② ✇③❣❧➛❞❡♠ s ❞❛♥❛ ❥❡st ❥❛❦♦ gc(s)✱ t❛❦ ➺❡

ċc(s(t)) = gc(s(t))ṡ(t). ✭✸✳✷✹✮



✸✳✷✳ ▼♦❞❡❧ ✉♣r♦s③❝③♦♥② ✶✼

θc

y c

M

P (sc)

P (s)

x

y

❘②s✉♥❡❦ ✸✳✹✿ P♦➟♦➺❡♥✐❡ ✇③❣❧➛❞❡♠ ❦r③②✇❡❥✳

❚❡r❛③ ③❛❞♥✐❡ st❡r♦✇❛♥✐❛ ♣♦❧❡❣❛ ♥❛ t❛❦✐♠ ❞♦❜r❛♥✐✉ st❡r♦✇❛➠✱ ❛❜② ♦❞❧❡❣➟♦➧➣ yc s♣❛❞➟❛ ❞♦
③❡r❛✱ ❛ ❦→t θ = θ0 − θc✱ ❜➛❞→❝② ró➺♥✐❝→ ♣♦♠✐➛❞③② ♦r✐❡♥t❛❝❥→ r♦❜♦t❛ ❛ ❦→t❡♠ st②❝③♥❡❥ ❞♦
❦r③②✇❡❥ ❞→➺②➟ ❞♦ ③❛❞❛♥❡❥ ✇❛rt♦➧❝✐ θd✳

❲ ❝❡❧✉ r❡❛❧✐③❛❝❥✐ ♣♦✇②➺s③❡❣♦ ③❛❞❛♥✐❛ ✇ ♣r❛❝② ❬✶❪ ♣r③❡❞st❛✇✐♦♥♦ ♠♦❞❡❧ r♦❜♦t❛ ③ ❞✇♦♠❛
s❦r➛t♥②♠✐ ❦♦➟❛♠✐ ♣♦❞♦❜♥② ❞♦ t❡❣♦ ✇②♣r♦✇❛❞③♦♥❡❣♦ ✇ ❬✸❪ ✐ ♣r③②t♦❝③♦♥❡❣♦ ✇ ♣♦❞r♦③❞③✐❛❧❡
✸✳✷††✳ ▼♦❞❡❧ t❡♥ ③♦st❛➟ r♦③s③❡r③♦♥② ♦ ♦❞✇r♦t♥♦➧➣ ♦❞❧❡❣➟♦➧❝✐ ♦❞ ♣✉♥❦t✉ ♦❜r♦t✉ r♦❜♦t❛ σ✱
❦tór→ ♠♦➺♥❛ ③❛♣✐s❛➣ ❥❛❦♦

σ =
1

2l
(sin θu1 − tan θu2 cos θu1). ✭✸✳✷✺✮

❖st❛t❡❝③♥✐❡✱ ✇ ❬✶❪ ❞❧❛ t❛❦✐❡❣♦ ✉❦➟❛❞✉ ③❛♣r♦♣♦♥♦✇❛♥♦ ❛❧❣♦r②t♠ st❡r♦✇❛♥✐❛ ♦♣❛rt② ♥❛
❧✐♥❡❛r②③✉❥→❝②♠ s♣r③➛➺❡♥✐✉ ③✇r♦t♥②♠ ✇ ♣♦st❛❝✐











































































































θ̇u2d =
θ̇u1(1−2lσ sin θu1)−2lσ̇ cos θu1
(2lσ−sin θu1)2+cos2 θu1

θ̇u2 =
θ̇u1(1−2lσ sin θu1)−2lσ̇ cos θu1
(2lσ−sin θu1)2+cos2 θu1 − kθu2(θ̇u2 − θ̇u2d)

ṡc = v
cθ+θu1
1−ccyc

ẏc = vsθ+θu1
θ̇ = v(σ − cc

cθ+θu1
1−ccyc )

θ̇u1 = v
cθ+θu1
1−ccyc [yc

cθ+θu1
1−ccyc (gcsθ+θu1 − kpy)+

+ sθ+θu1(ccsθ+θu1 − kvycθ+θu1sign(
cθ+θu1
1−ccyc )) + cc]− vσ

σ̇ = v
cθ+θu1
1−ccyc

{

cθ+θu1
1−ccyc

[

−kpθ θ̃ + gc
]

+ σ
{

cθ+θu1
1−ccycyc

(

gccθ+θu1 + kpysθ+θu1
)

+

+sθ+θu1
[

cccθ+θu1 + kvysθ+θu1sign
(

cθ+θu1
1−ccyc

)]}

− kvθ

[

σ − cc
cθ+θu1
1−ccyc

]

sign
(

cθ+θu1
1−ccyc

)}

φ̇u1 = v

φ̇u2 = v
√

(2lσ − sin θu1)2 + cos2 θu1

, ✭✸✳✷✻✮

❣❞③✐❡ cθ+θu1 = cos (θ + θu1)✱ sθ+θu1 = sin (θ + θu1)✱ θ̃ = θ − θd ✕ ❜➟→❞ ♦r✐❡♥t❛❝❥✐ r♦❜♦✲
t❛ ✇③❣❧➛❞❡♠ ➧❝✐❡➺❦✐✱ kθu2 , kpy , kvy , kpθ , kvθ ✕ ❞♦❞❛t♥✐❡ ✇③♠♦❝♥✐❡♥✐❛ ❛ v t♦ st❛➟❛ ✉st❛❧♦♥❛
♣r➛❞❦♦➧➣ ✇✐r♦✇❛♥✐❛ ♣✐❡r✇s③❡❣♦ ❦♦➟❛✳

††▼♦❞❡❧❡ ró➺♥✐→ s✐➛ ♦r✐❡♥t❛❝❥→ ♣♦❝③→t❦♦✇→ r♦❜♦t❛ ♦r❛③ ❦ó➟ ✕ ❞♦❞❛t❦♦✇♦ ♠♦❞❡❧ ❬✶❪ ♥✐❡ ♠❛ ③♠✐❡♥♥②❝❤
♣r♦♠✐❡♥✐✳



✶✽ ✸✳ ■♠♣❧❡♠❡♥t❛❝❥❛ ❛❧❣♦r②t♠ó✇ st❡r♦✇❛♥✐❛

✸✳✸ ▼♦❞❡❧ s②♠✉❧t❛♥✐❝③♥②

❲ ❝❡❧✉ ❧❡♣s③❡❣♦ ③r♦③✉♠✐❡♥✐❛ ③❛❝❤♦✇❛♥✐❛ r♦❜♦t❛ ♥❛♣➛❞③❛♥❡❣♦ ❞✇✐❡♠❛ ♣ó➟s❢❡r❛♠✐✱ ❥❡❣♦
st❡r♦✇❛♥✐❛ ✐ ♠❡t♦❞ ✐❝❤ ✐♠♣❧❡♠❡♥t❛❝❥✐✱ ❛❧❣♦r②t♠② ③♦st❛➟② ♣r③❡t❡st♦✇❛♥❡ ♥❛ ♠♦❞❡❧✉✱ ✇ ❦tó✲
r②♠ ♦❜✐❡ ♣ó➟s❢❡r② ♣♦r✉s③❛❥→ s✐➛ s②♥❝❤r♦♥✐❝③♥✐❡✱ t♦ ③♥❛❝③② φ1 = φ2 = φ✱ θ1 = θ2 = θ ♦r❛③
ψ1 = ψ2 = ψ✳ ❖♣✐s✉❥→❝② ❣♦ ✉❦➟❛❞ ❜❡③❞r②❢♦✇② ♠❛ ♣♦st❛➣











































ẋ = R (η2 cos θ0 cosφ+ η3 (sin θ sin θ0 − cos θ cos θ0 sinφ) + η1 sin θ0)
ẏ = R (η2 sin θ0 cosφ− η3 (sin θ0 cos θ sinφ+ sin θ cos θ0)− η1 cos θ0)

θ̇0 = 0

φ̇ = η1
θ̇ = η2
ψ̇ = η3

✭✸✳✷✼✮

③ ✇❡❦t♦r❡♠ ❦♦♥✜❣✉r❛❝②❥♥②♠ q = (x, y, θ0, φ, θ, ψ)
T ✳ ❏❛❦ ✇✐❞❛➣ ✇ ♣♦✇②➺s③②♠ ♠♦❞❡❧✉ ♥✐❡

❥❡st❡➧♠② ✇ st❛♥✐❡ st❡r♦✇❛➣ ♦r✐❡♥t❛❝❥→ r♦❜♦t❛ θ0✱ ❞❧❛t❡❣♦ ✇ ❝❡❧✉ ❞❛❧s③❡❣♦ ✉♣r♦s③❝③❡♥✐❛
♣r③②❥➛t♦ θ0 = 0 ✐ ❥❡ ♣♦♠✐♥✐➛t♦✱ ❝♦ s♣r♦✇❛❞③❛ ✉❦➟❛❞ ❞♦ ♣♦st❛❝✐































ẋ = R (cosφη2 − cos θ sinφη3)
ẏ = −R (η1 + sin θη3)

φ̇ = η1
θ̇ = η2
ψ̇ = η3

. ✭✸✳✷✽✮

❚❛❦✐ ♠♦❞❡❧ ❜➛❞③✐❡♠② ♥❛③②✇❛➣ s②♠✉❧t❛♥✐❝③♥②♠✳ ❈♦ ✇❛➺♥❡✱ ✇ ♠♦❞❡❧✉ ✭✸✳✷✽✮ ♥✐❡ ✇②st➛♣✉❥❡
❞③✐❡❧❡♥✐❡ ♣r③❡③ ✵ ❞❧❛ ➺❛❞♥②❝❤ ✇❛rt♦➧❝✐ ③♠✐❡♥♥②❝❤ st❛♥✉✳

P♦♥✐➺❡❥ ❞❧❛ ♠♦❞❡❧✉ s②♠✉❧t❛♥✐❝③♥❡❣♦ ♦♣✐s③❡♠② s③❝③❡❣ó➟♦✇♦ ❛❧❣♦r②t♠② st❡r♦✇❛♥✐❛ ③❛✲
♣r❡③❡♥t♦✇❛♥❡ ✇ r♦③❞③✐❛❧❡ ✷✳ ❲ ❝❡❧✉ ❧❡♣s③❡❣♦ ✐❝❤ ③r♦③✉♠✐❡♥✐❛ ③♦st❛♥→ ♣r③❡❞st❛✇✐♦♥❡ ❦♦✲
❧❡❥♥❡ ❦r♦❦✐ ♣r♦✇❛❞③→❝❡ ❞♦ ♦tr③②♠❛♥✐❛ ③❛ ✐❝❤ ♣♦♠♦❝→ ✇②r❛➺❡➠ ♦♣✐s✉❥→❝②❝❤ st❡r♦✇❛♥✐❛✳
❉♦❞❛t❦♦✇♦ ③❛♣r❡③❡♥t✉❥❡♠② ♣r♦st② ❛❧❣♦r②t♠ st❡r♦✇❛♥✐❛✱ ❦tór② ❡❧✐♠✐♥✉❥❡ ♥✐❡❦tór❡ ✇❛❞②
❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ✐ ❞②♥❛♠✐❝③♥❡❥✳ ❖♠ó✇✐♦♥❡ ③♦st❛♥→ t❡➺ ♣ró❜② ♣♦♣r❛✇✐❡♥✐❛ ❛❧❣♦r②t✲
♠ó✇ ❧✐♥❡❛r②③❛❝❥✐✳

✸✳✸✳✶ ▲✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛

❏❛❦♦ ♣✐❡r✇s③❡ ♣♦❦❛➺❡♠②✱ ❥❛❦ ③❛st♦s♦✇❛➣ ❛❧❣♦r②t♠ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ❞♦ ♠♦❞❡❧✉ ✭✸✳✷✽✮✳
❲ t②♠ ❝❡❧✉✱ ✇ r♦❧✐ ✇❡❦t♦r❛ ✇s♣ó➟r③➛❞♥②❝❤ ❧✐♥❡❛r②③✉❥→❝②❝❤ ✇②❜✐❡r③♠② tr②✇✐❛❧♥❡ ♦❞✇③♦✲
r♦✇❛♥✐❡ ✇ ♣♦st❛❝✐

h(q) =







x

y

ψ





 . ✭✸✳✷✾✮

◆❛st➛♣♥✐❡✱ ③❣♦❞♥✐❡ ③ ♦♣✐s❛♥→ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✷✳✶ ♠❡t♦❞→✱ ③❛♣✐s✉❥❡♠② st❡r♦✇❛♥✐❡ η ✇ ♣♦✲
st❛❝✐

η =

(

∂h

∂q
G

)−1
(ḣd −K(h− hd)). ✭✸✳✸✵✮

❲②③♥❛❝③♥✐❦ ♠❛❝✐❡r③② det ∂h
∂q
G = R2 cosφ✱ ❛ ✇✐➛❝ st❡r♦✇❛♥✐❡ ❥❡st ♠♦➺❧✐✇❡ ❣❞② φ 6= ±π

2
✳



✸✳✸✳ ▼♦❞❡❧ s②♠✉❧t❛♥✐❝③♥② ✶✾

✸✳✸✳✷ ▲✐♥❡❛r②③❛❝❥❛ ❞②♥❛♠✐❝③♥❛

❑♦❧❡❥♥♦ ❞♦ ♠♦❞❡❧✉ ✭✸✳✷✽✮ ③❛st♦s✉❥❡♠② ♣r③❡❞st❛✇✐♦♥② ✇ ♣♦❞r♦③❞③✐❛❧❡ ✷✳✷ ❛❧❣♦r②t♠ ❧✐♥❡✲
❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥✳ ❲②❜✐❡r③♠② ♥❛❥♣✐❡r✇ tr②✇✐❛❧♥❡ ♦❞✇③♦r♦✇❛♥✐❡ ✇ ♣♦st❛❝✐

h(q) =







x

y

ψ





 . ✭✸✳✸✶✮

◆❛st➛♣♥✐❡ ♣♦❧✐❝③♠② ❞r✉❣→ ♣♦❝❤♦❞→ h ✐ ♣♦❞st❛✇♠② ③♠✐❡♥♥❡ ③ ♠♦❞❡❧✉ ✭✸✳✷✽✮ ♦tr③②♠✉❥→❝







ẍ

ÿ

ψ̈





 =











−R(− sin θ sinφη2η3 + sinφη1η2 + cos θ cosφη3η1+
− cosφη̇2 + cos θ sinφη̇3)

−R(cos θη2η3 + η̇1 + sin θη̇3)
η̇3











. ✭✸✳✸✷✮

❲②❜✐❡r③♠② ♥♦✇❡ st❡r♦✇❛♥✐❡ (η̇1, η̇2, η̇3)T ✐ ③❛♣✐s③♠② ♣♦♥♦✇♥✐❡ ♣♦✇②➺s③❡ ró✇♥❛♥✐❡

ḧ =







ẍ

ÿ

ψ̈





 = Kdd







η̇1
η̇2
η̇3





+ P = Kddu+ P ✭✸✳✸✸✮

❣❞③✐❡

Kdd =







0 R cos(φ) −R cos θ sinφ
−R 0 −R sin θ
0 0 1





 ,

P =







−R (η1 (η3 cos θ cosφ+ η2 sinφ)− η2η3 sin θ sinφ)
−Rη2η3 cos θ

0





 .

❏❡➧❧✐ t❡r❛③ ③❛ u ✇❡➵♠✐❡♠②

u = K−1dd (−P + v) ✭✸✳✸✹✮

❛ ③❛ v

v = ḧd −K1(ḣ− ḣd)−K2(h− hd), ✭✸✳✸✺✮

♦tr③②♠❛♠② ró✇♥❛♥✐❛ ♥❛ ♣♦❝❤♦❞♥❡ st❡r♦✇❛➠

u =







η̇1
η̇2
η̇3





 = K−1dd (−P + ḧd −K1(ḣ− ḣd)−K2(h− hd)). ✭✸✳✸✻✮

❲ t❡♥ s♣♦só❜ r♦③s③❡r③②❧✐➧♠② ✇❡❦t♦r st❛♥✉ ✉❦➟❛❞✉ ♦ ✸ ③♠✐❡♥♥❡✱ ❝♦ s✉♠❛r②❝③♥✐❡ ♠♦➺❡♠②
③❛♣✐s❛➣ ❥❛❦♦

(

q̇

η̇

)

=

(

Gη

K−1dd (−P + ḧd −K1(ḣ− ḣd)−K2(h− hd))

)

. ✭✸✳✸✼✮

❲②③♥❛❝③♥✐❦ ♠❛❝✐❡r③② Kdd ✇②♥♦s✐ R2 cos(φ(t))✳ P♦❞♦❜♥✐❡ ❥❛❦ ✇ ♣r③②♣❛❞❦✉ ❧✐♥❡❛r②③❛❝❥✐
st❛t②❝③♥❡❥ ♠♦❞❡❧ ❥❡st st❡r♦✇❛❧♥②✱ ❣❞② φ 6= ±π

2
✳



✷✵ ✸✳ ■♠♣❧❡♠❡♥t❛❝❥❛ ❛❧❣♦r②t♠ó✇ st❡r♦✇❛♥✐❛

✸✳✸✳✸ ❙t❡r♦✇❛♥✐❡ ♥❛✐✇♥❡

P♦♥✐❡✇❛➺ ❡❢❡❦t② ③❛st♦s♦✇❛♥✐❛ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ♦r❛③ ❞②♥❛♠✐❝③♥❡❥ ♥✐❡ ❜②➟② ③❛❞♦✲
✇❛❧❛❥→❝❡ ✭③♦❜❛❝③ ♣♦❞r♦③❞③✐❛➟② ✹✳✶✳✶ ✐ ✹✳✶✳✷✮✱ ③❛♣r♦♣♦♥♦✇❛♥② ③♦st❛➟ ❞♦❞❛t❦♦✇② ♠♦❞❡❧
st❡r♦✇❛♥✐❛ ♥❛③✇❛♥② ♣r③❡③ ❛✉t♦r❛ st❡r♦✇❛♥✐❡♠ ♥❛✐✇♥②♠ ❛ ♦♣✐s❛♥②♠ ♣♦♥✐➺❡❥✳

❩❛➟ó➺♠② ♥❛❥♣✐❡r✇ t②♠❝③❛s♦✇♦✱ ➺❡ st❡r♦✇❛♥✐❡ ❦→t❛♠✐ θ ✐ φ✱ ❝③②❧✐ η1✱ η2✱ ♥✐❡ ✇♣➟②✇❛
♥❛ ♣r➛❞❦♦➧➣ ♣♦st➛♣♦✇→ r♦❜♦t❛ ✭ẋ✱ ẏ✮ ❛ ♣r➛❞❦♦➧➣ ✇✐r♦✇❛♥✐❛ η3 ❥❡st st❛➟❛✳ ❲ó✇❝③❛s ♠♦❞❡❧
✭✸✳✷✽✮ ♣r③②❥♠✉❥❡ ♣♦st❛➣































ẋ = R cos θ sinφη3
ẏ = −R sin θη3
φ̇ = η1
θ̇ = η2
ψ̇ = η3

. ✭✸✳✸✽✮

❲②r❛➺❡♥✐❛ ♥❛ ẋ✱ ẏ ♠♦➺♥❛ ♣♦tr❛❦t♦✇❛➣ ❥❛❦♦ ✉❦➟❛❞ ró✇♥❛➠ ③ ❞✇✐❡♠❛ ♥✐❡✇✐❛❞♦♠②♠✐ φ ✐ θ✱
③ ♥❛st➛♣✉❥→❝②♠ r♦③✇✐→③❛♥✐❡♠







θ = arcsin
(

− ẏ
Rη3

)

= θ(ẋ, ẏ)

φ = arcsin
(

ẋ
Rη3 cos θ

)

= φ(ẋ, ẏ)
. ✭✸✳✸✾✮

❘ó✇♥❛♥✐❡ ✭✸✳✸✾✮ ♣♦③✇❛❧❛ ♥❛ ✇②❧✐❝③❡♥✐❡ ✇❛rt♦➧❝✐ ❦→tó✇ θ✱ φ ♣r③② ③❛❞❛♥②❝❤ ♣r➛❞❦♦➧❝✐❛❝❤
r✉❝❤✉ ♣✉♥❦✉ ♣r♦✇❛❞③❡♥✐❛ r♦❜♦t❛ (x, y)T ✳ ❚❡r❛③ ♠♦➺❡♠② ③❛♣r♦♣♦♥♦✇❛➣ st❡r♦✇♥✐❦ ✇ ♣♦✲
st❛❝✐











η1 = k2(φd(k1ex, k1ey)− φ)
η2 = k2(θd(k1ex, k1ey)− θ)
η3 = const

. ✭✸✳✹✵✮

❣❞③✐❡ ex = xd − x✱ ey = yd − y✱ xd✱ yd ③❛❞❛♥❛ tr❛❥❡❦t♦r✐❛ ❛ k1✱ k2 ❞♦❞❛t♥✐❡ ✇③♠♦❝♥✐❡♥✐❛✳

✸✳✸✳✹ ❋✐❧tr❛❝❥❛

❏❛❦ ♣♦❦❛③✉❥→ ❜❛❞❛♥✐❛ s②♠✉❧❛❝②❥♥❡ ✭③♦❜❛❝③ ♣♦❞r♦③❞③✐❛➟ ✹✳✶✳✶✮✱ ✇②♥✐❦✐ ♦tr③②♠②✇❛♥❡ ③
✉➺②❝✐❡♠ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ♥✐❡ s→ ♠♦➺❧✐✇❡ ❞♦ ③r❡❛❧✐③♦✇❛♥✐❛ ♥❛ r③❡❝③②✇✐st②♠ r♦❜♦❝✐❡
③ ♣♦✇♦❞✉ ♣♦❥❛✇✐❛❥→❝②❝❤ s✐➛ ✇ ♥✐❝❤ ❞✉➺②❝❤ ♦s❝②❧❛❝❥✐✳ Pr♦st→ ♠❡t♦❞→ r♦③✇✐→③❛♥✐❛ t❡❣♦
♣r♦❜❧❡♠✉ ♠♦➺❡ ❜②➣ ✜❧tr❛❝❥❛✳ ❩❛❞❛♥✐❡ t♦ ♠♦➺♥❛ ③r❡❛❧✐③♦✇❛➣ ♥❛ ❞✇❛ s♣♦s♦❜②✳

P✐❡r✇s③② ③ ♥✐❝❤✱ ✜❧tr❛❝❥❛ ✒♦✤✐♥❡✑✱ ✇②♠❛❣❛ ✇❝③❡➧♥✐❡❥s③❡❣♦ ✇②③♥❛❝③❡♥✐❛ ♦❝③❡❦✐✇❛♥②❝❤
tr❛❥❡❦t♦r✐✐ r✉❝❤✉ ✉❦➟❛❞✉✱ ❛ ♥❛st➛♣♥✐❡ ✐❝❤ ♣r③❡✜❧tr♦✇❛♥✐❛ ✭♥♣✳ ✜❧tr❡♠ ❞♦❧♥♦♣r③❡♣✉st♦✇②♠✮
✐ ③❛❞❛♥✐❡ ♣♦❝❤♦❞♥②❝❤ ✇ t❡♥ s♣♦só❜ ✉③②s❦❛♥②❝❤ s②❣♥❛➟ó✇ ❥❛❦♦ ♥♦✇❡ st❡r♦✇❛♥✐❡✳ ❲②❞❛❥❡
s✐➛ ❥❡❞♥❛❦✱ ➺❡ ❧❡♣s③②♠ r♦③✇✐→③❛♥✐❡♠ ❜➛❞③✐❡ r♦③s③❡r③❡♥✐❡ ❜❡③❞r②❢♦✇❡❣♦ ✉❦➟❛❞✉ st❡r♦✇❛♥✐❛
♦♣✐s✉❥→❝❡❣♦ ③❛❝❤♦✇❛♥✐❡ r♦❜♦t❛ ♦ ❞♦❞❛t❦♦✇❡ ③♠✐❡♥♥❡ ♣♦♠♦❝♥✐❝③❡✱ ♣♦③✇❛❧❛❥→❝❡ ♥❛ ✐♠♣❧❡✲
♠❡♥t❛❝❥❡ ✇❜✉❞♦✇❛♥❡❣♦ ✜❧tr❛ ❞♦❧♥♦♣r③❡♣✉st♦✇❡❣♦ ✇❡❞➟✉❣ s❝❤❡♠❛t✉

φ̇ = η1 →
φ̇tmp = η1
φ̇ = Kφtmp−φ

T
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❣❞③✐❡ φtmp t♦ ③♠✐❡♥♥❛ t②♠❝③❛s♦✇❛✱ ❦tór❡❥ st❡r♦✇❛♥✐❡ ❥❡st ✇②❧✐❝③❛♥❡ ③❣♦❞♥✐❡ ③ ❛❧❣♦r②t♠❡♠
❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥✱ ♥❛t♦♠✐❛st r③❡❝③②✇✐st❡ φ ❥❡st ✇②♥✐❦✐❡♠ ❞③✐❛➟❛♥✐❛ ✜❧tr❛ ❞♦❧♥♦♣r③❡✲
♣✉st♦✇❡❣♦ ♥❛➟♦➺♦♥❡❣♦ ♥❛ φtmp✳ P❛r❛♠❡tr② K✱ T s→ ♣❛r❛♠❡tr❛♠✐ ✜❧tr❛✱ ♦❞♣♦✇✐❡❞♥✐♦✿
✇③♠♦❝♥✐❡♥✐❡♠ ✇ ♣❛s♠✐❡ ♣r③❡♣✉st♦✇②♠ ✜❧tr❛ ✐ ❥❡❣♦ st❛➟→ ❝③❛s♦✇→✳



✸✳✸✳ ▼♦❞❡❧ s②♠✉❧t❛♥✐❝③♥② ✷✶

✸✳✸✳✺ ❆❧❣♦r②t♠ ❏P❚❉

❖❜s❡r✇❛❝❥❛ ③❛❝❤♦✇❛♥✐❛ ❛❧❣♦r②t♠✉ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ❞❧❛ ♠♦❞❡❧✉ s②♠✉❧t❛♥✐❝③♥❡❣♦ ♣♦✲
③✇♦❧✐➟❛ ♥❛ ③❛♣r♦♣♦♥♦✇❛♥✐❡ ❥❡s③❝③❡ ❥❡❞♥❡❣♦ ❛❧❣♦r②t♠✉✱ ❦tór② ✇ ♣r❛❦t②❝❡ ♦❦❛③✉❥❡ s✐➛ ❜②➣
♥✐❡❜②✇❛❧❡ s❦✉t❡❝③♥②✳ ❈♦ ✇✐➛❝❡❥✱ ③❛♣r♦♣♦♥♦✇❛♥② ❛❧❣♦r②t♠ ♠♦➺♥❛ ➟❛t✇♦ ③❛✐♠♣❧❡♠❡♥t♦✇❛➣
❞❧❛ ♠♦❞❡❧✉ ♣❡➟♥❡❣♦✱ ❣❞③✐❡ t❛❦➺❡ s✐➛ s♣r❛✇❞③✐➟✳ P♦♥✐➺❡❥ ③♦st❛♥✐❡ ♦♣✐s❛♥② s♣♦só❜ ♣♦st➛♣♦✲
✇❛♥✐❛ ❥❛❦✐ ③❛♣r♦✇❛❞③✐➟ ❞♦ ♦tr③②♠❛♥✐❛ ✇s♣♦♠♥✐❛♥❡❣♦ s♣♦s♦❜✉ st❡r♦✇❛♥✐❛✳

❲ ♣✐❡r✇s③❡❥ ❦♦❧❡❥♥♦➧❝✐ ♥❛❧❡➺② ③❛✉✇❛➺②➣✱ ➺❡ st❡r♦✇❛♥✐❡ ❦→t❛♠✐ η1✱ η2 ❥❡st ③♥❛❝③→❝♦
✭♥❛✇❡t ♦ r③→❞✮ ♠♥✐❡❥s③❡ ♦❞ ♣r➛❞❦♦➧❝✐ ♦❜r♦t♦✇❡❥ ♣ó➟s❢❡r② η3✳ ❈♦ ③❛ t②♠ ✐❞③✐❡ ✇♣➟②✇ t②❝❤
st❡r♦✇❛➠ ♥❛ ♣r➛❞❦♦➧➣ r♦❜♦t❛ (ẋ, ẏ)T ♠♦➺♥❛ ✇ ✇✐➛❦s③♦➧❝✐ ♣r③②♣❛❞❦ó✇ ✇ ♣r❛❦t②❝❡ ♣♦♠✐♥→➣✳
Pr③② t❛❦✐♠ ③❛➟♦➺❡♥✐✉ ✉♣r♦➧❝✐♠② ♠❛❝✐❡r③ G ♠♦❞❡❧✉ ✭✸✳✷✽✮ ③ ♣♦st❛❝✐





















0 R cosφ − cos θ sinφ
−R 0 sin θ
0 0 0
1 0 0
0 1 0
0 0 1




















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❞♦ ♣♦st❛❝✐




















0 0 − cos θ sinφ
0 0 sin θ
0 0 0
1 0 0
0 1 0
0 0 1





















. ✭✸✳✹✸✮

❑♦❧❡❥♥♦✱ ♣♦❞❡❥♠✉❥❡♠② ♣ró❜➛ ✉➺②❝✐❛ t❛❦ ✉♣r♦s③❝③♦♥❡❥ ♠❛❝✐❡r③② G ✇ ❛❧❣♦r②t♠❛❝❤ ❧✐♥❡❛r②✲
③❛❝❥✐ st❛t②❝③♥❡❥ ✭♣♦❞r♦③❞③✐❛➟ ✷✳✶✮ ✐ ❞②♥❛♠✐❝③♥❡❥ ✭♣♦❞r♦③❞③✐❛➟ ✷✳✷✮✳ ◆✐❡st❡t② ❞❧❛ ♣✐❡r✇s③❡❣♦
③ ♥✐❝❤ ♥✐❡ ❞❛ s✐➛ ✇②❜r❛➣ ➺❛❞♥❡❣♦ s❡♥s♦✇♥❡❣♦ ✇②❥➧❝✐❛ ❧✐♥❡❛r②③✉❥→❝❡❣♦ h(q)✱ ❛❜② ✇②③♥❛❝③✲
♥✐❦ ♠❛❝✐❡r③② ♦❞s♣r③➛❣❛♥✐❛ ∂h

∂q
G ♥✐❡ ❜②➟ ③❡r♦✇②✳ ❉❧❛ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ♥❛t♦♠✐❛st

tr②✇✐❛❧♥❡ ♦❞✇③♦r♦✇❛♥✐❡ h(q)✱ ✇ t❛❦✐❡❥ s❛♠❡❥ ♣♦st❛❝✐ ❥❛❦ ✉➺②t❡ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✸✳✷✱ ❞❛✲
❥❡ ✇②③♥❛❝③♥✐❦ detKdd = R2η3

2 cos2(θ) cos(φ)✳ ❲②♥✐❦❛ ③ t❡❣♦✱ ➺❡ ❛❜② st❡r♦✇❛♥✐❡ ♠♦❣➟♦
❞③✐❛➟❛➣ ♣ó➟s❢❡r② ♠✉s③→ ✇✐r♦✇❛➣ ✭cos θ, cosφ ♥✐❡ ♠♦❣→ ❜②➣ ③❡r♦✇❡ ③ ♣♦✇♦❞✉ ♦♠❛✇✐❛♥②❝❤
✇❝③❡➧♥✐❡❥ ✜③②❝③♥②❝❤ ♦❣r❛♥✐❝③❡➠ r♦❜♦t❛✮✳ ❩❛♣r♦♣♦♥♦✇❛♥② ♣♦✇②➺❡❥ ❛❧❣♦r②t♠ ♣♦③✇♦❧✐➟ ③♥✐✲
✇❡❧♦✇❛➣ ♦s❝②❧❛❝❥❡✱ ❛ ♣r③②❥➛t❡ ✉♣r♦s③❝③❡♥✐❛ ♥✐❡ ♣♦❣♦rs③②➟② ③♥❛❝③→❝♦ ✇②♥✐❦ó✇ ➧❧❡❞③❡♥✐❛
tr❛❥❡❦t♦r✐✐✱ ❝♦ ♣♦❦❛③❛♥♦ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✹✳✶✳✺✳





❘♦③❞③✐❛➟ ✹

❇❛❞❛♥✐❛ s②♠✉❧❛❝②❥♥❡

❲ r♦③❞③✐❛❧❡ ③♦st❛➟② ③❡❜r❛♥❡ r❡♣r❡③❡♥t❛❝②❥♥❡ ✇②♥✐❦✐ s②♠✉❧❛❝❥✐ ♣r③❡♣r♦✇❛❞③♦♥②❝❤ ✇ r❛✲
♠❛❝❤ ♣r❛❝②✳ ❑♦❧❡❥♥♦ ♣r③❡❞st❛✇✐♦♥❡ ③♦st❛♥→ r❡③✉❧t❛t② ❞❧❛ ♠♦❞❡❧✉ s②♠✉❧t❛♥✐❝③♥❡❣♦✱ ♣❡➟✲
♥❡❣♦ ✐ ✉♣r♦s③❝③♦♥❡❣♦ ❜➛❞→❝❡ ❡❢❡❦t❡♠ ③❛st♦s♦✇❛♥✐❛ ❛❧❣♦r②t♠ó✇ ♦♣✐s❛♥②❝❤ ✇ r♦③❞③✐❛❧❡ ✷✳
❖♠ó✇✐♦♥② ③♦st❛♥✐❡ ✇♣➟②✇ ♣❛r❛♠❡tró✇ ♥❛ ♦tr③②♠②✇❛♥❡ ✇②♥✐❦✐ ✐ ♣r③❡❞st❛✇✐♦♥❡ ✇♥✐♦s❦✐
❞♦t②❝③→❝❡ s❦✉t❡❝③♥♦➧❝✐ ✐ ✉➺②t❡❝③♥♦➧❝✐ ♣♦s③❝③❡❣ó❧♥②❝❤ ❛❧❣♦r②t♠ó✇✳

❲s③②st❦✐❡ ❜❛❞❛♥✐❛ ♣r③❡❞st❛✇✐♦♥❡ ♣♦♥✐➺❡❥ ♣r③❡♣r♦✇❛❞③♦♥♦ ③ ✉➺②❝✐❡♠ ➧r♦❞♦✇✐s❦❛ ▼❛✲
t❤❡♠❛t✐❝❛ ❬✹❪✳ ❲❡ ✇s③②st❦✐❝❤ s②♠✉❧❛❝❥❛❝❤ ♣r③②❥➛t♦ l = 0.1 ♦r❛③ R = 0.03✳ ❏❛❦♦ r❡♣r❡③❡♥✲
t❛❝②❥♥→ tr❛❥❡❦t♦r✐➛ ③❛❞❛♥→ xd(t)✱ yd(t) ♣r③②❥➛t♦

{

xd(t) = sin
t
2

yd(t) = cos (t+
π
4
)
, ✭✹✳✶✮

❦tór❛ ❢♦r♠✉❥❡ ❦r③②✇→ ▲✐ss❛❥♦✉s ✇ ♣♦st❛❝✐ ✒ós❡♠❦✐✑∗✳ ❲ ♣r③❡❞st❛✇✐♦♥②❝❤ ♣♦♥✐➺❡❥ ✇②❦r❡✲
s❛❝❤ ❥❛❦♦ ❜➟→❞ tr❛❦t✉❥❡♠② ró➺♥✐❝➛ ♠✐➛❞③② ♦❞✇③♦r♦✇❛♥✐❡♠ ❧✐♥❡❛r②③✉❥→❝②♠ ❛ ❥❡❣♦ ✇❛rt♦➧❝✐→
③❛❞❛♥→ e = h−hd✱ ♥❛t♦♠✐❛st ♥❛ ✇②❦r❡s❛❝❤ ➧❧❛❞✉ r✉❝❤✉ r♦❜♦t❛ ✭✉♠✐❡s③❝③♦♥②❝❤ ③❛✇s③❡ ♣♦
♣r❛✇❡❥ str♦♥✐❡ ♥❛ ❞♦❧❡ r②s✉♥❦ó✇ ③ ✇②❦r❡s❛♠✐✮ ❝③❛r♥→ ❧✐♥✐→ ③❛③♥❛❝③♦♥♦ ③❛❞❛♥→ tr❛❥❡❦t♦r✐➛
❛ ♥❛ ❝③❡r✇♦♥♦ r③❡❝③②✇✐st→ ♣♦③②❝❥➛ r♦❜♦t❛ (x, y)T ✳

✹✳✶ ▼♦❞❡❧ s②♠✉❧t❛♥✐❝③♥②

◆❛ ♣♦❝③→t❦✉ ❛❧❣♦r②t♠② ♣r③❡t❡st♦✇❛♥♦ ♥❛ st♦s✉♥❦♦✇♦ ♣r♦st②♠ ♠♦❞❡❧✉ s②♠✉❧t❛♥✐❝③♥②♠
✭✸✳✷✽✮✳ ❩❛③♥❛❝③♠②✱ ➺❡ ❥❡➧❧✐ ♥❛ ♣r③❡❞st❛✇✐♦♥②❝❤ ❞❛❧❡❥ ✇②❦r❡s❛❝❤ ♥✐❡ ♣♦❦❛③❛♥♦ ❝❛➟❡❣♦ ♣r③❡✲
❜✐❡❣✉ ❜➟➛❞✉ ey t♦ ❥❡❣♦ ♠❛❦s✐♠✉♠ ③❛✇s③❡ ✇②st➛♣♦✇❛➟♦ ✇ st❛♥✐❡ ♣♦❝③→t❦♦✇②♠ ✐ ✇②♥♦s✐➟♦√
2
2
− 0.1✳

✹✳✶✳✶ ▲✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛

❲ ♣✐❡r✇s③❡❥ ❦♦❧❡❥♥♦➧❝✐ ③❜❛❞❛♥② ③♦st❛➟ ❛❧❣♦r②t♠ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ③❛♣r❡③❡♥t♦✇❛♥→
✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✸✳✶✳ Pr③②❦➟❛❞♦✇❡ r❡③✉❧t❛t② ❞③✐❛➟❛♥✐❛ ❛❧❣♦r②t♠✉ ♣♦❦❛③❛♥♦ ♥❛ r②s✉♥✲
❦✉ ✹✳✶✳ ❯③②s❦❛♥♦ ❥❡ ♣r③② ♠❛❝✐❡r③② ✇③♠♦❝♥✐❡➠ K = 0.5I3 ③❛❞❛♥❡❥ ✇❛rt♦➧❝✐ ✇✐r♦✇❛♥✐❛
ψd = 500t ✐ ✇❛r✉♥❦❛❝❤ ♣♦❝③→t❦♦✇②❝❤ q(0) = (0, 0.1, 0, 0, 0, 0)T †✳ ▼♦➺❡♠② ③❛♦❜s❡r✇♦✇❛➣✱
➺❡ ❜➟➛❞② s♣❛❞❛❥→ ❞♦ ③❡r❛ ✐ r♦❜♦t ➧❧❡❞③✐ ③❛❞❛♥→ tr❛❥❡❦t♦r✐➛✳ ◆✐❡st❡t②✱ ❥❛❦ ✇✐❞❛➣✱ ✇ ✉❦➟❛✲
❞③✐❡ ♣♦❥❛✇✐❛❥→ s✐➛ ♥✐❡♣♦➺→❞❛♥❡ ♦s❝②❧❛❝❥❡ ♦ ❞✉➺❡❥ ❛♠♣❧✐t✉❞③✐❡ ✐ ❝③➛st♦t❧✐✇♦➧❝✐✳ ❇❛❞❛♥✐❛

∗❇❛❞❛♥✐❛ ♣r③❡♣r♦✇❛❞③♦♥♦ ró✇♥✐❡➺ ③ ✉➺②❝✐❡♠ ✐♥♥②❝❤ tr❛❥❡❦t♦r✐✐ t❛❦✐❝❤ ❥❛❦✿ ♦❞❝✐♥❡❦✱ ♦❦r→❣ ✐ ❦✇❛❞r❛t✳
†❥❛❦♦ ✇❛rt♦➧➣ ♣♦❝③→t❦♦✇→ ✇s♣ó➟r③➛❞♥❡❥ y ♣r③②❥➛t♦ 0.1✱ ❛❜② ➧r♦❞❡❦ r♦❜♦t❛ ③♥❛❥❞♦✇❛➟ s✐➛ ✇ ♣✉♥❦✲

❝✐❡ (0, 0)T
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❘②s✉♥❡❦ ✹✳✶✿ ▼♦❞❡❧ s②♠✉❧t❛♥✐❝③♥② ✕ ❧✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛



✹✳✶✳ ▼♦❞❡❧ s②♠✉❧t❛♥✐❝③♥② ✷✺

✇②❦❛③❛➟②✱ ➺❡ ❝③➛st♦t❧✐✇♦➧➣ t②❝❤ ♦s❝②❧❛❝❥✐ ❥❡st ➧❝✐➧❧❡ ③✇✐→③❛♥❛ ③ ③❛❞❛♥→ ♣r➛❞❦♦➧❝✐→ ✇✐r♦✲
✇❛♥✐❛✱ ❛ ♠✐❛♥♦✇✐❝✐❡ f = ψ̇d

2π
✳ ❩✇✐➛❦s③❛♥✐❡ ✇❛rt♦➧❝✐ ✇ ♠❛❝✐❡r③② ✇③♠♦❝♥✐❡➠ ♣r③②➧♣✐❡s③❛

s♣❛❞❛♥✐❡ ❜➟➛❞ó✇✱ ❛❧❡ ❥❡❞♥♦❝③❡➧♥✐❡ ③✇✐➛❦s③❛ ❛♠♣❧✐t✉❞② st❡r♦✇❛➠ ✐ ❦→tó✇✳ ❩✇✐➛❦s③❡♥✐❡ ③❛✲
❞❛♥❡❥ ✇❛rt♦➧❝✐ ✇✐r♦✇❛♥✐❛ ③♠♥✐❡❥s③❛ ✇②❝❤②❧❡♥✐❛ ❦→tó✇✱ ❛❧❡ ③❣♦❞♥✐❡ ③ t②♠ ❝♦ ✇s♣♦♠♥✐❛♥♦
✇❝③❡➧♥✐❡❥✱ ③✇✐➛❦s③❛ ❝③➛st♦t❧✐✇♦➧➣ ♦s❝②❧❛❝❥✐✳ ❉❧❛ ✐♥♥②❝❤ tr❛❥❡❦t♦r✐✐ ③❛❞❛♥②❝❤ ♦tr③②♠②✇❛♥♦
❛♥❛❧♦❣✐❝③♥❡ ✇②♥✐❦✐✳ ▼✐♠♦ ✐➺ ❣➟ó✇♥② ❝❡❧ ③❛❞❛♥✐❛ st❡r♦✇❛♥✐❛ ③♦st❛➟ ♦s✐→❣♥✐➛t② ✭➧❧❡❞③❡♥✐❡
tr❛❥❡❦t♦r✐✐✮✱ t♦ ♥✐❡ s♣♦só❜ ✉③♥❛➣ t❡❣♦ ③❛ s✉❦❝❡s✳ ❩ ♣✉♥❦t✉ ✇✐❞③❡♥✐❛ ♠♦➺❧✐✇♦➧❝✐ st❡r♦✇❛♥✐❛
r③❡❝③②✇✐st②♠ r♦❜♦t❡♠ ♥✐❡✇②❦♦♥❛❧♥❡ ❥❡st✱ ❜② ③♠✐❡♥✐❛➟ ♦♥ ❦→t② ✇②❝❤②❧❡➠ ③ t❛❦→ ❞✉➺→ ❝③➛✲
st♦t❧✐✇♦➧❝✐→✱ ❡❧✐♠✐♥✉❥❡ t♦ ❝❛➟❦♦✇✐❝✐❡ ♠♦➺❧✐✇♦➧➣ ③❛✐♠♣❧❡♠❡♥t♦✇❛♥✐❛ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥
✇ ♣r❛❦t②❝❡✳

✹✳✶✳✷ ▲✐♥❡❛r②③❛❝❥❛ ❞②♥❛♠✐❝③♥❛

❑♦❧❡❥♥♦ ♣r③❡❜❛❞❛♥♦ ❛❧❣♦r②t♠ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ♦♣✐s❛♥② ✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✸✳✷✳
Pr③②❥♠✉❥→❝ ♠❛❝✐❡r③❡ ✇③♠♦❝♥✐❡➠ K1 = I3 ♦r❛③ K2 = 2I3✱ ③❛❞❛♥→ ✇❛rt♦➧➣ ψd = 200 ✐
✇❛r✉♥❦✐ ♣♦❝③→t❦♦✇❡ q(0) = (0, 0.1, 0, 0, 0, 0, 0, 0, 200)T ♦tr③②♠❛♥♦ ✇②♥✐❦✐ ♣r③❡❞st❛✇✐♦♥❡
♥❛ r②s✉♥❦✉ ✹✳✷✳ ❏❛❦ ♠♦➺♥❛ ③❛♦❜s❡r✇♦✇❛➣ ❜➟➛❞② ♦s❝②❧✉❥→❝ s♣❛❞❛❥→ ❞♦ ③❡r❛✳ ❩♥❛❝③→❝② ❥❡st
❢❛❦t✱ ➺❡ ♦s❝②❧❛❝❥❡ ♥❛ st❡r♦✇❛♥✐✉ ③♥❛❝③→❝♦ ③♠♥✐❡❥s③②➟② s✇♦❥→ ❛♠♣❧✐t✉❞➛ ✭③✇✐→③❡❦ ✐❝❤ ❝③➛✲
st♦t❧✐✇♦➧❝✐ ③ ③❛❞❛♥→ ♣r➛❞❦♦➧❝✐→ ✇✐r♦✇❛♥✐❛ ❥❡st t❛❦✐ s❛♠ ❥❛❦ ✇ ♣r③②♣❛❞❦✉ ❧✐♥❡❛r②③❛❝❥✐
st❛t②❝③♥❡❥✮✱ ♥❛t♦♠✐❛st ♦s❝②❧❛❝❥❡ ❦→tó✇ s♣❛❞➟② ♣r❛✇✐❡ ❞♦ ③❡r❛✳ ❩ ♣❡rs♣❡❦t②✇② st❡r♦✇❛♥✐❛
r③❡❝③②✇✐st②♠ r♦❜♦t❡♠ ❥❡st t♦ ❜❛r❞③♦ ❞♦❜r❛ ✇✐❛❞♦♠♦➧➣✳ ❩✇✐➛❦s③❛♥✐❡ ✇❛rt♦➧❝✐ ✇ ♠❛❝✐❡r③②
✇③♠♦❝♥✐❡➠ ♦❝③②✇✐➧❝✐❡ ♣r♦✇❛❞③✐ ❞♦ s③②❜s③❡❣♦ ③❜✐❡❣❛♥✐❛ ❜➟➛❞ó✇ ❞♦ ③❡r❛✱ ❥❡❞♥❛❦ ♣♦✇♦❞✉❥❡
✉✇✐❞♦❝③♥✐❡♥✐❡ s✐➛ ♦s❝②❧❛❝❥✐ ✇ ❦→t❛❝❤ ✇②❝❤②❧❡➠✳ ❩✇✐➛❦s③❛♥✐❡ ③❛❞❛♥❡❥ ♣r➛❞❦♦➧❝✐ ✇✐r♦✇❛♥✐❛
ψd ♦♣ró❝③ ♦♣✐s❛♥❡❣♦ ♣♦✇②➺❡❥ ✇♣➟②✇✉ ♥❛ ❝③➛st♦t❧✐✇♦➧➣ ♥✐❡♣♦➺→❞❛♥②❝❤ ♦s❝②❧❛❝❥✐ ♠♦➺❡ ♣r♦✲
✇❛❞③✐➣ ❞♦ ♣♦❥❛✇✐❛♥✐❛ s✐➛ ✐❝❤ ♥❛ ❦→t❛❝❤ ✇②❝❤②❧❡➠✱ ③♠♥✐❡❥s③❛ t❛❦➺❡ ❛♠♣❧✐t✉❞➛ st❡r♦✇❛➠
✐ ✇②❝❤②❧❡➠✳ P♦❞♦❜♥❡ ③❛❝❤♦✇❛♥✐❛ ❥❛❦ ❞❧❛ ✒ós❡♠❦✐✑ ♣♦✇t❛r③❛❥→ s✐➛ ❞❧❛ ✐♥♥②❝❤ tr❛❥❡❦t♦r✐✐
③❛❞❛♥②❝❤✳

❆❧❣♦r②t♠ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ♣r③②♥✐ós➟ ③♥❛❝③→❝→ ♣♦♣r❛✇➛ ✇③❣❧➛❞❡♠ ❧✐♥❡❛r②③❛✲
❝❥✐ st❛t②❝③♥❡❥ ✐ ❞❛❥❡ ♥❛❞③✐❡❥❡ ♥❛ ✐♠♣❧❡♠❡♥t❛❝❥➛ ♥❛ r③❡❝③②✇✐st②♠ r♦❜♦❝✐❡✳ ◆❛❧❡➺② ❥❡❞♥❛❦
✉✇❛➺❛➣ ♣r③② ❞♦❜♦r③❡ ✇③♠♦❝♥✐❡➠ ✐ ③❛❞❛♥❡❥ ♣r➛❞❦♦➧❝✐ ✇✐r♦✇❛♥✐❛✱ ♥✐❡✇➟❛➧❝✐✇❡ ✐❝❤ ✇❛rt♦✲
➧❝✐ ♠♦❣→ s♣♦✇♦❞♦✇❛➣ ♥❛s✐❧♦♥❡ ♦s❝②❧❛❝❥❡ ♥❛ ❦→t❛❝❤ φ ✐ θ ♦r❛③ ♦st❛t❡❝③♥✐❡ ✉♥✐❡♠♦➺❧✐✇✐➣
st❡r♦✇❛♥✐❡ r♦❜♦t❡♠✳

✹✳✶✳✸ ❙t❡r♦✇❛♥✐❡ ♥❛✐✇♥❡

◆❛st➛♣♥②♠ ③❜❛❞❛♥②♠ ❛❧❣♦r②t♠❡♠ ❜②➟♦ st❡r♦✇❛♥✐❡ ♥❛✐✇♥❡ ♦♣✐s❛♥❡ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✸✳✸✳
Pr③②❦➟❛❞♦✇❡ ✇②♥✐❦✐ ❞❧❛ ✇③♠♦❝♥✐❡➠ k1 = 50✱ k2 = 40✱ st❛➟❡❣♦ ✇✐r♦✇❛♥✐❛ η3 = 200 ✐ ✇❛✲
r✉♥❦ó✇ ♣♦❝③→t❦♦✇②❝❤ q(0) = (0, 0.2, 0, 0, 0, 0)T ♣♦❦❛③❛♥♦ ♥❛ r②s✉♥❦✉ ✹✳✸✳ ❖❜s❡r✇✉❥❡♠②✱
➺❡ ❜➟➛❞② ex✱ ey ♥✐❡ ③❛♥✐❦❛❥→ ❛ ♦s❝②❧✉❥→ ✇♦❦ó➟ ③❡r❛✳ ❉♦❜r→ ✇✐❛❞♦♠♦➧❝✐→ ❥❡st ♥❛t♦♠✐❛st
t♦✱ ➺❡ ✇ t②♠ ♣r③②♣❛❞❦✉ ♥✐❡ ♠❛ ♦s❝②❧❛❝❥✐ ❛♥✐ ♥❛ st❡r♦✇❛♥✐❛❝❤✱ ❛♥✐ ♥❛ s❛♠②❝❤ ✇②❝❤②✲
❧❡♥✐❛❝❤✳ ❩✇✐➛❦s③❛❥→❝ ✇③♠♦❝♥✐❡♥✐❛ ③♠♥✐❡❥s③❛♠② ♠❛❦s②♠❛❧♥② ❜➟→❞ ✇ st❛♥✐❡ ✉st❛❧♦♥②♠✳
❇➟➛❞②✱ ♠✐♠♦ ✐➺ ♥✐❡ s♣❛❞❛❥→ ❞♦ ③❡r❛ s→ ❛❦❝❡♣t♦✇❛❧♥❡✱ ✐❝❤ ✇❛rt♦➧➣ ❥❡st st♦s✉♥❦♦✇♦ ♠❛➟❛
✇ ♣♦ró✇♥❛♥✐✉ ③ ♣r③❡❜②t→ ♣r③❡③ r♦❜♦t❛ ❞r♦❣→✳

✹✳✶✳✹ ❋✐❧tr❛❝❥❛

❲ tr❛❥❡❦t♦r✐❛❝❤ ♦tr③②♠②✇❛♥②❝❤ ♣r③② st❡r♦✇❛♥✐✉ ③ ✉➺②❝✐❡♠ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ♣♦❥❛✲
✇✐❛➟② s✐➛ ♥✐❡♣♦➺→❞❛♥❡ ♦s❝②❧❛❝❥❡✳ ❲ r❛♠❛❝❤ ❜❛❞❛➠ ♣♦❞❥➛t♦ ♣ró❜➛ ✉s✉♥✐➛❝✐❛ ✐❝❤ ♣♦♣r③❡③
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❘②s✉♥❡❦ ✹✳✹✿ ❊❢❡❦t ③❛st♦s♦✇❛♥✐❛ ✜❧tr❛ ❞♦❧♥♦♣r③❡♣✉st♦✇❡❣♦ ❞♦ ✇②♥✐❦ó✇ ❧✐♥❡❛r②③❛❝❥✐ st❛✲
t②❝③♥❡❥

✜❧tr❛❝❥➛ ③❣♦❞♥✐❡ ③ ③❛s❛❞→ ♦♣✐s❛♥→ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✸✳✹✳ Pr③②❦➟❛❞♦✇❡ ✇②♥✐❦✐ ✜❧tr❛❝❥✐ ✒♦❢✲
✢✐♥❡✑ ♥❛ ♦tr③②♠❛♥❡❥ tr❛❥❡❦t♦r✐✐ ♣♦❦❛③❛♥♦ ♥❛ r②s✉♥❦✉ ✹✳✹✳ ❯③②s❦❛♥② ✇ t❡♥ s♣♦só❜ ♣r③❡✲
✜❧tr♦✇❛♥② s②❣♥❛➟ ③❞❛❥❡ s✐➛ ♦❞♣♦✇✐❛❞❛➣ ✐♥t✉✐❝❥✐✱ ♠✐♠♦ t♦ ③❛st♦s♦✇❛♥✐❡ ❥❡❣♦ ♣♦❝❤♦❞♥❡❥
❥❛❦♦ st❡r♦✇❛♥✐❛ ♥✐❡ s♣r❛✇❞③❛ s✐➛ ✕ r♦❜♦t s③②❜❦♦ ③❥❡➺❞➺❛ ③ ③❛❞❛♥❡❥ tr❛❥❡❦t♦r✐✐✳ P♦♠②s➟ ③
r♦③s③❡r③❡♥✐❡♠ ✉❦➟❛❞✉ ♦ ✜❧tr ❞♦❧♥♦♣r③❡♣✉st♦✇② ✐ ✜❧tr❛❝❥→ ♥❛ ❜✐❡➺→❝♦ ró✇♥✐❡➺ ♥✐❡ ♣r③②♥✐ós➟
♦❝③❡❦✐✇❛♥②❝❤ r❡③✉❧t❛tó✇✳

✹✳✶✳✺ ❆❧❣♦r②t♠ ❏P❚❉

❚✉t❛❥ ③✐❧✉str✉❥❡♠② ❞③✐❛➟❛♥✐❡ ❛❧❣♦r②t♠✉ ❏P❚❉✱ ♦♣✐s❛♥❡❣♦ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✸✳✺✳ Pr③②❥✲
♠✉❥→❝ ♠❛❝✐❡r③❡ ✇③♠♦❝♥✐❡➠ K1 = I3✱ K2 = 2I3✱ ③❛❞❛♥❡ ✇✐r♦✇❛♥✐❡ ψd = 200t ✐ st❛♥
♣♦❝③→t❦♦✇② q(0) = (0, 0.2, 0, 0, 0, 0, 200)T ♦tr③②♠✉❥❡♠② ✇②♥✐❦✐ ♣r③❡❞st❛✇✐♦♥❡ ♥❛ r②s✉♥❦✉
✹✳✺✳ ❆❧❣♦r②t♠ ❏P❚❉ ➟→❝③② ✇ s♦❜✐❡ ❝❡❝❤② ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ♦r❛③ st❡r♦✇❛♥✐❛ ♥❛✲
✐✇♥❡❣♦✳ Pr➛❞❦♦➧➣ s♣❛❞❛♥✐❛ ❜➟➛❞ó✇ ❥❡st t❛❦❛ s❛♠♦ ❥❛❦ ✇ ♣r③②♣❛❞❦✉ ❧✐♥❡❛r②③❛❝❥✐✱ ❥❡❞♥❛❦
♣♦❞♦❜♥✐❡ ❥❛❦ ✇ ♣r③②♣❛❞❦✉ st❡r♦✇❛♥✐❛ ♥❛✐✇♥❡❣♦ ❜➟➛❞② ♥✐❡ s♣❛❞❛❥→ ❞♦ ③❡r❛✱ ♥✐❡ ♣♦❥❛✇✐❛❥→
s✐➛ ró✇♥✐❡➺ ➺❛❞♥❡ ♥✐❡♣♦➺→❞❛♥❡ ♦s❝②❧❛❝❥❡✳ ❩✇✐➛❦s③❡♥✐❡ ✇❛rt♦➧❝✐ ✇ ♠❛❝✐❡r③❛❝❤ ✇③♠♦❝♥✐❡➠
♦❝③②✇✐➧❝✐❡ ♣r③②➧♣✐❡s③❛ ③❜✐❡➺♥♦➧➣ ✐ ③♠♥✐❡❥s③❛ ❦♦➠❝♦✇② ❜➟→❞✳ ❖tr③②♠❛♥❡ ✇②♥✐❦✐ ♣♦③✇❛❧❛❥→
✇✐❡r③②➣✱ ➺❡ ❛❧❣♦r②t♠ ❏P❚❉ ♠♦➺♥❛ ③❛✐♠♣❧❡♠❡♥t♦✇❛➣ ♥❛ r③❡❝③②✇✐st②♠ r♦❜♦❝✐❡✳

✹✳✷ ▼♦❞❡❧ ♣❡➟♥②

❩❛♣r❡③❡♥t✉❥❡♠② t❡r❛③ ✇②♥✐❦✐ ❜❛❞❛➠ ❛❧❣♦r②t♠ó✇ ♣r③❡❞st❛✇✐♦♥②❝❤ ✇ ♣♦❞r♦③❞③✐❛❧❡ ✸✳✶✳ P♦✲
❞♦❜♥✐❡ ❥❛❦ ✇ ♣♦♣r③❡❞♥✐♠ ♣♦❞r♦③❞③✐❛❧❡✱ ❥❡➧❧✐ ♥❛ ♣r③❡❞st❛✇✐♦♥②❝❤ ❞❛❧❡❥ ✇②❦r❡s❛❝❤ ♥✐❡
♣r③❡❞st❛✇✐♦♥♦ ❝❛➟❡❣♦ ♣r③❡❜✐❡❣✉ ❜➟➛❞✉ ey t♦ ♠❛❦s✐♠✉♠ ③❛✇s③❡ ♣♦❥❛✇✐❛➟♦ s✐➛ ✇ st❛♥✐❡
♣♦❝③→t❦♦✇②♠ ✐ ✇②♥♦s✐➟♦

√
2
2
− 0.1✳

✹✳✷✳✶ ▲✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛

◆❛ ♣♦❝③→t❦✉ ③❜❛❞❛♥② ③♦st❛➟ ❛❧❣♦r②t♠ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥✳ Pr③②❥♠✉❥→❝ ♠❛❝✐❡r③ ✇③♠♦❝✲
♥✐❡➠ K ❥❛❦♦ K = 5I5✱ ✇❛rt♦➧➣ ③❛❞❛♥→ ✇✐r♦✇❛➠ ψ1d = 500t✱ ψ2d = 500t✱ ③❛❞❛♥→ ♦r✐❡♥t❛✲
❝❥➛ θ0d = 0 ♦r❛③ ✇❛r✉♥❦✐ ♣♦❝③→t❦♦✇❡ q(0) = (0, 0.1, 0, 0.25,−0.3, 0, 0.15,−0.3, 0)T ♦tr③②✲
♠❛♥♦ ✇②♥✐❦✐ ♣r③❡❞st❛✇✐♦♥❡ ♥❛ r②s✉♥❦❛❝❤ ✹✳✻ ✭❞❧❛ ♠♦❞❡❧✉ ✭✸✳✶✮✮ ♦r❛③ ✹✳✼ ✭❞❧❛ ♠♦❞❡❧✉
✭✸✳✷✮✮✳ P♦❞♦❜♥✐❡ ❥❛❦ ♣r③② ♠♦❞❡❧✉ s②♠✉❧t❛♥✐❝③♥②♠ ♦❜s❡r✇✉❥❡♠② ♣♦❥❛✇✐❡♥✐❡ s✐➛ ♥✐❡♣♦➺→✲
❞❛♥②❝❤ ♦s❝②❧❛❝❥✐ ♦ ❝③➛st♦t❧✐✇♦➧❝✐ ③❛❧❡➺♥❡❥ ❣➟ó✇♥✐❡ ♦❞ ③❛❞❛♥❡❥ ♣r➛❞❦♦➧❝✐ ✇✐r♦✇❛♥✐❛✱ ❥❡❞♥❛❦
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✸✷ ✹✳ ❇❛❞❛♥✐❛ s②♠✉❧❛❝②❥♥❡

t②♠ r❛③❡♠ ♠❛❥→ ♦♥❡ ✇✐➛❦s③→ ❛♠♣❧✐t✉❞➛✳ ❩♠✐❛♥❛ ♣❛r❛♠❡tró✇ ró✇♥✐❡➺ ♣♦✇♦❞✉❥❡ ♣♦❞♦❜✲
♥→ r❡❛❦❝❥➛✳ ❩✇✐➛❦s③❡♥✐❡ ✇❛rt♦➧❝✐ ✇ ♠❛❝✐❡r③② ✇③♠♦❝♥✐❡➠ ♣r③②➧♣✐❡s③❛ ③❜✐❡❣❛♥✐❡ s✐➛ ❜➟➛❞ó✇
❛ ③✇✐➛❦s③❡♥✐❡ ③❛❞❛♥②❝❤ ♣r➛❞❦♦➧❝✐ ✇✐r♦✇❛♥✐❛ ③♠♥✐❡❥s③❛ ❛♠♣❧✐t✉❞➛ ✇②❝❤②❧❡➠ ❛❧❡ ③✇✐➛❦s③❛
❝③➛st♦t❧✐✇♦➧➣ ♦s❝②❧❛❝❥✐✳ ❏❡❞②♥→ ró➺♥✐❝→ ✇③❣❧➛❞❡♠ ♠♦❞❡❧✉ s②♠✉❧t❛♥✐❝③♥❡❣♦ ❥❡st ❢❛❦t✱ ➺❡
③✇✐➛❦s③❛❥→❝ ③❛❞❛♥❡ ♣r➛❞❦♦➧❝✐ ✇✐r♦✇❛♥✐❛ ③✇✐➛❦s③❛♠② ró✇♥✐❡➺ ✇❛rt♦➧❝✐ st❡r♦✇❛➠✳ ❆❧❣♦✲
r②t♠ ♣r③❡t❡st♦✇❛♥♦ t❛❦➺❡ ♥❛ ✐♥♥②❝❤ tr❛❥❡❦t♦r✐❛❝❤ ③ ♣♦❞♦❜♥②♠✐ r❡③✉❧t❛t❛♠✐✳ ❙♣r❛✇❞③♦♥♦
ró✇♥✐❡➺ ③❛❝❤♦✇❛♥✐❡ r♦❜♦t❛✱ ❣❞② ③❛➺→❞❛♠②✱ ❛❜② ♦r✐❡♥t❛❝❥❛ r♦❜♦t❛ ❜②➟❛ ♣r♦st♦♣❛❞➟❛ ❞♦
tr❛❥❡❦t♦r✐✐ t③♥✳ θ0d = arctan2(ẋd, ẏd) ♦tr③②♠✉❥→❝ ♣♦♥♦✇♥✐❡ ③❜❧✐➺♦♥❡ r❡③✉❧t❛t②✳ ❈✐❡❦❛✇→
s②t✉❛❝❥➛ ③❛♦❜s❡r✇♦✇❛♥♦✱ ❣❞② ✉st❛✇✐♦♥♦ θ0d = 0.5 ✭③♦❜❛❝③ r②s✉♥❡❦ ✹✳✽✮✳ ❏❛❦ ✇✐❞❛➣ ♣♦
♣❡✇♥②♠ ❝③❛s✐❡ ✇②st➛♣✉❥→❝❡ ♥✐❡♣♦➺→❞❛♥❡ ♦s❝②❧❛❝❥❡ ③❛❝③➛➟② s♣❛❞❛➣ ✐ ♦st❛t❡❝③♥✐❡ ❝❛➟❦♦✇✐❝✐❡
③❛♥✐❦➟②✳

◆❛❧❡➺② t✉t❛❥ ✇s♣♦♠♥✐❡➣✱ ➺❡ ③ ♣♦✇♦❞✉ ♦❣r❛♥✐❝③❡➠ ✇②♥✐❦❛❥→❝②❝❤ ③ ✇❛rt♦➧❝✐ ✇②③♥❛❝③♥✐❦❛
♠❛❝✐❡r③② ♦❞s♣r③➛❣❛♥✐❛ ♦r❛③ ♥✐❡♣r③❡✇✐❞②✇❛❧♥②❝❤ ✇❛rt♦➧❝✐ ❦→tó✇ ✇②❝❤②❧❡➠ ♥✐❡❥❡❞♥♦❦r♦t✲
♥✐❡ ♥✐❡ ✉❞❛✇❛➟♦ s✐➛ ♦tr③②♠❛➣ ✇②♥✐❦ó✇ s②♠✉❧❛❝❥✐✳ ▼✐♠♦ ✐➺ ✇ ❥❡❞♥②♠ ♣r③②♣❛❞❦✉ ✉❞❛➟♦ s✐➛
✇②❣❛s✐➣ ♦s❝②❧❛❝❥❡✱ t♦ ③ ♦❝③②✇✐st②❝❤ ✇③❣❧➛❞ó✇ ❛❧❣♦r②t♠ t❡♥ ♥✐❡ ❥❡st ♠♦➺❧✐✇② ❞♦ ③❛✐♠♣❧❡✲
♠❡♥t♦✇❛♥✐❛ ♥❛ r③❡❝③②✇✐st②♠ r♦❜♦❝✐❡✳
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❑♦❧❡❥♥②♠ ♣r③❡t❡st♦✇❛♥②♠ ❛❧❣♦r②t♠❡♠ ❜②➟❛ ❧✐♥❡❛r②③❛❝❥❛ ❞②♥❛♠✐❝③♥❛✳ Pr③②❦➟❛❞♦✇❡ ✇②♥✐✲
❦✐ ♣r③❡❞st❛✇✐♦♥♦ ♥❛ r②s✉♥❦✉ ✹✳✾✳ ❖tr③②♠❛♥♦ ❥❡ ♣r③②❥♠✉❥→❝ ♠❛❝✐❡r③❡ ✇③♠♦❝♥✐❡➠ K1 = 5I5
♦r❛③K2 = 2I5✱ ψ1d = 500t✱ ψ2d = 500t✱ ③❛❞❛♥→ ♦r✐❡♥t❛❝❥➛ θ0d = 0 ♦r❛③ ✇❛r✉♥❦✐ ♣♦❝③→t❦♦✇❡
q(0) = (0, 0.1, 0, 0.25,−0.3, 0, 0.15,−0.3, 0, 0, 0, 0, 0, 0)T ✳ P♦♥♦✇♥✐❡ ♦tr③②♠❛❧✐➧♠② ♦s❝②❧❛❝❥❡
♦ ❝③➛st♦t❧✐✇♦➧❝✐ ✽✵❍③ ✭③❛❧❡➺♥❡❥ ♦❞ ψd✮ ✐ ❞✉➺❡❥ ❛♠♣❧✐t✉❞③✐❡✳ ■♥❛❝③❡❥ ♥✐➺ ✇ ♣r③②♣❛❞❦✉ ♠♦❞❡✲
❧✉ s②♠✉❧t❛♥✐❝③♥❡❣♦ ❧✐♥❡❛r②③❛❝❥❛ ❞②♥❛♠✐❝③♥❛ ♥✐❡ ♣r③②♥✐♦s➟❛ ③♥❛❝③→❝❡❥ ♣♦♣r❛✇② ✇③❣❧➛❞❡♠
st❛t②❝③♥❡❥✳ ◆✐❡ ✉❞❛➟♦ ❞♦❜r❛➣ s✐➛ t❛❦✐❝❤ ♣❛r❛♠❡tró✇ ✐ ③❛❞❛♥②❝❤ ✇❛rt♦➧❝✐ ❛❜② ③♠♥✐❡❥s③②➣
♦s❝②❧❛❝❥❡ ♥❛ ❦→t❛❝❤ ✇②❝❤②❧❡➠✳ P♦♥♦✇♥✐❡ ③✇✐➛❦s③❛♥✐❡ ✇❛rt♦➧❝✐ ✇ ♠❛❝✐❡r③❛❝❤ ✇③♠♦❝♥✐❡➠
♣r③②➧♣✐❡s③❛ ③❜✐❡❣❛♥✐❡ ❜➟➛❞ó✇ ❛ ③✇✐➛❦s③❡♥✐❡ ③❛❞❛♥②❝❤ ♣r➛❞❦♦➧❝✐ ✇✐r♦✇❛♥✐❛ ③♠♥✐❡❥s③❛ ✇②✲
❝❤②❧❡♥✐❛ ✐ ③✇✐➛❦s③❛ st❡r♦✇❛♥✐❛✳ ❆❧❣♦r②t♠ ♣r③❡t❡st♦✇❛♥♦ ♥❛ ✐♥♥②❝❤ tr❛❥❡❦t♦r✐❛❝❤ ③ ♣♦✇t❛✲
r③❛❧♥②♠✐ ✇②♥✐❦❛♠✐✳ ■❞❡♥t②❝③♥✐❡ ❥❛❦ ✇ ♣r③②♣❛❞❦✉ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ❞❧❛ ♥✐❡❦tór②❝❤
tr❛❥❡❦t♦r✐✐ ✐ ♥✐❡③❡r♦✇❡❥ ③❛❞❛♥❡❥ ♦r✐❡♥t❛❝❥✐ θ0d ③❞❛r③❛➟♦ s✐➛ ✐➺ ♦s❝②❧❛❝❥❡ ✇②❣❛s❛➟② ♣♦ ❝③❛✲
s✐❡✳ ❲ ✇✐❡❧✉ ♣r③②♣❛❞❦❛❝❤ ✇ ♦❣ó❧❡ ♥✐❡ ❞❛➟♦ s✐➛ ♦tr③②♠❛➣ ✇②♥✐❦ó✇ ✭③ ♣♦✇♦❞✉ ♦❣r❛♥✐❝③❡➠
✇②③♥❛❝③♥✐❦❛ ♠❛❝✐❡r③② Kdd ✐ ♥✐❡♣r③❡✇✐❞②✇❛❧♥♦➧❝✐ ✇②❝❤②❧❡➠✮✳ ❚❛❦➺❡ ✐ ✇ t②♠ ♣r③②♣❛❞❦✉
✐♠♣❧❡♠❡♥t❛❝❥❛ ♥❛ r♦❜♦❝✐❡ r③❡❝③②✇✐st②♠ ❥❡st ♥✐❡♠♦➺❧✐✇❛✳

✹✳✷✳✸ ❆❧❣♦r②t♠ ❏P❚❉

❖st❛t♥✐♠ ③❜❛❞❛♥②♠ ❛❧❣♦r②t♠❡♠ ❞❧❛ ♠♦❞❡❧✉ ♣❡➟♥❡❣♦ ❜②➟ ❛❧❣♦r②t♠ ❏P❚❉✳❲②❜✐❡r❛❥→❝ ♠❛✲
❝✐❡r③❡ ✇③♠♦❝♥✐❡➠ K1 = 10I5✱ K2 = 5I5✱ ③❛❞❛♥❡ ♣r➛❞❦♦➧❝✐ ✇✐r♦✇❛➠ ψ1d = 200✱ ψ1d = 200
♦r❛③ ✇❛r✉♥❦✐ ♣♦❝③→t❦♦✇❡ q(0) = (0, 0.1, 0, 0.25,−0.3, 0, 0.15,−0.3, 10, 10)T ♦tr③②♠❛♥♦ ✇②✲
♥✐❦✐ ♣r③❡❞st❛✇✐♦♥❡ ♥❛ r②s✉♥❦✉ ✹✳✶✵✳ ❩❣♦❞♥✐❡ ③ ♦❝③❡❦✐✇❛♥✐❛♠✐ ✇ ✇②♥✐❦❛❝❤ ♥✐❡ ♣♦❥❛✇✐❛❥→
s✐➛ ♥✐❡♣♦➺→❞❛♥❡ ♦s❝②❧❛❝❥❡ ❥❡❞♥❛❦ ❜➟→❞ ♥✐❡ ❞→➺② ❞♦ ③❡r❛✳ ▼✐♠♦ t♦ ❥❡❣♦ ✇✐❡❧❦♦➧➣ ❥❡st ♣♦✲
♠✐❥❛❧♥❛ ✭♠♥✐❡❥ ♥✐➺ ✶ ❝❡♥t②♠❡tr✮✳ ❩✇✐➛❦s③❛❥→❝ ✇❛rt♦➧❝✐ ✇ ♠❛❝✐❡r③❛❝❤ ✇③♠♦❝♥✐❡➠ ♠♦➺❡♠②
❞♦❞❛t❦♦✇♦ ③♠♥✐❡❥s③②➣ ❦♦➠❝♦✇② ❜➟→❞✳ ❩✇ró➣♠② ✉✇❛❣➛ ✐➺ ❛❧❣♦r②t♠ ❏P❚❉ ③❛❝❤♦✇✉❥❡ s✐➛
❜❛r❞③♦ ♣♦❞♦❜♥✐❡ ❞♦ ❛❧❣♦r②t♠✉ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ③ ♣♦♠✐♥✐➛❝✐❡♠ ♦s❝②❧❛❝❥✐✳ ❆❧❣♦✲
r②t♠ ♣r③❡t❡st♦✇❛♥♦ ❞❧❛ ró➺♥②❝❤ ③❛❞❛♥②❝❤ tr❛❥❡❦t♦r✐✐✱ ✇✐r♦✇❛➠ ✐ ♦r✐❡♥t❛❝❥✐ ♦tr③②♠✉❥→❝
③❜❧✐➺♦♥❡ ✇②♥✐❦✐✳ ❩❛♣r❡③❡♥t♦✇❛♥❡ ♣♦✇②➺❡❥ ✇②♥✐❦✐ ♣♦③✇❛❧❛❥→ s→❞③✐➣✱ ➺❡ ❛❧❣♦r②t♠ ❏P❚❉
♠❛ ③❛st♦s♦✇❛♥✐❡ ♣r❛❦t②❝③♥❡✳ ◆✐❡st❡t② ③ ♣♦✇♦❞✉ ♦❣r❛♥✐❝③❡➠ ✇②③♥❛❝③♥✐❦❛ ♠❛❝✐❡r③② Kdd

❛❧❣♦r②t♠ t❡♥ ♥✐❡ ♣♦③✇❛❧❛ ❞♦❥❡❝❤❛➣ ❞♦ ♣✉♥❦t✉ ✐ s✐➛ ✇ ♥✐♠ ③❛tr③②♠❛➣✳
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✸✻ ✹✳ ❇❛❞❛♥✐❛ s②♠✉❧❛❝②❥♥❡

✹✳✸ ▼♦❞❡❧ ✉♣r♦s③❝③♦♥②

❚❡r❛③ ♣♦❦❛➺❡♠② ✇②♥✐❦✐ ❜❛❞❛➠ ♣r③❡♥♦s③❡♥✐❛ st❡r♦✇❛➠ ③ ♠♦❞❡❧✉ ✉♣r♦s③❝③♦♥❡❣♦ ❞♦ ♠♦❞❡❧✉
♣❡➟♥❡❣♦✳ ❲ ③❛♣r❡③❡♥t♦✇❛♥②❝❤ ♣♦♥✐➺❡❥ ✇②♥✐❦❛❝❤ ❥❛❦♦ ❜➟→❞ ➧❧❡❞③❡♥✐❛ tr❛❥❡❦t♦r✐✐ ③❛❞❛♥❡❥
♣♦❦❛➺❡♠② t②❧❦♦ ❞✇✐❡ ♣✐❡r✇s③❡ s❦➟❛❞♦✇❡ ♦❞✇③♦r♦✇❛♥✐❛ ❧✐♥❡❛r②③✉❥→❝❡❣♦✱ ❣❞②➺ t②❧❦♦ ♦♥❡
♠❛❥→ s❡♥s ✇ ♠♦❞❡❧✉ ♣❡➟♥②♠✳ ❩❛③♥❛❝③♠②✱ ➺❡ ❥❡➧❧✐ ♥❛ ♣r③❡❞st❛✇✐♦♥②❝❤ ♣♦♥✐➺❡❥ ✇②❦r❡s❛❝❤
♥✐❡ ✇✐❞❛➣ ❝❛➟❡❣♦ ♣r③❡❜✐❡❣✉ ❜➟➛❞✉ ey t♦ ♠❛❦s✐♠✉♠ ③❛✇s③❡ ❜②➟♦ ✇ st❛♥✐❡ ♣♦❝③→t❦♦✇②♠✳

✹✳✸✳✶ ▲✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛

❏❛❦♦ ♣✐❡r✇s③② ③❜❛❞❛♥♦ ❛❧❣♦r②t♠ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥✳ ❉➟✉❣♦➧➣ ❞②s③❧❛ ③❛✇s③❡ ♣r③②❥♠♦✲
✇❛♥♦ ❥❛❦♦ d = 0.15✳ Pr③②❦➟❛❞♦✇❡ ✇②♥✐❦✐ ❞❧❛ ♠❛❝✐❡r③② ✇③♠♦❝♥✐❡➠ K = 0.5I5✱ ③❛❞❛♥❡✲
❣♦ ❦→t❛ θu2d = 0.4✱ ③❡r♦✇❡❣♦ st❡r♦✇❛♥✐❛ ♣r♦♠✐❡♥✐❛♠✐✱ ✇❛r✉♥❦ó✇ ♣♦❝③→t❦♦✇②❝❤ q(0) =
(0, 0.1, 0, 0.4, 0, 0.4, 0, 0.02, 0.02)T ✐ ♣r③❡♥✐❡s✐❡♥✐❛ st❡r♦✇❛➠ ✇ tr②❜✐❡ ✒♦✤✐♥❡✑ ③❛♣r❡③❡♥t♦✇❛✲
♥❡ ♥❛ r②s✉♥❦❛❝❤ ✹✳✶✶ ✭❞❧❛ ♠♦❞❡❧✉ ✭✸✳✶✮✮ ♦r❛③ ✹✳✶✷ ✭❞❧❛ ♠♦❞❡❧✉ ✭✸✳✷✮✮✳ ▼♦➺❡♠② ③❛♦❜s❡r✇♦✲
✇❛➣✱ ➺❡ ♣r③❡♥✐❡s✐❡♥✐❡ ❞♦ ♠♦❞❡❧✉ ✭✸✳✶✮ ❞③✐❛➟❛ ❜❛r❞③♦ ❞♦❜r③❡✱ ♥❛t♦♠✐❛st ♣r③② ♣r③❡♥♦s③❡♥✐✉
❞♦ ♠♦❞❡❧✉ ✭✸✳✷✮ tr❛❥❡❦t♦r✐❛ r♦❜♦t❛ s③②❜❦♦ r♦③❥❡➺❞➺❛ s✐➛ ③ ③❛❞❛♥→ ❛ ♣♦♥✐❡✇❛➺ ❥❡st t♦ tr②❜
✒♦✤✐♥❡✑ ♥✐❡ ♠❛ ✇ ♥✐♠ ➺❛❞♥②❝❤ ♠❡❝❤❛♥✐③♠ó✇ ❦♦r②❣✉❥→❝②❝❤ t➛ s②t✉❛❝❥➛✳ ❲✐❞③✐♠②✱ ➺❡ ✇
t②♠ ♣r③②♣❛❞❦✉ ❜➟➛❞② ♥✐❡ ③❜✐❡❣❛❥→ ❞♦ ③❡r❛✱ ❞③✐❡❥❡ s✐➛ t❛❦ ♣♦♥✐❡✇❛➺ ♠♦❞❡❧ ✉♣r♦s③❝③♦♥②
♥✐❡ ♦❞❞❛❥❡ ✇s③②st❦✐❝❤ ❝❡❝❤ ♠♦❞❡❧✉ ♣❡➟♥❡❣♦✳ ❩✇✐➛❦s③❛♥✐❡ ✇❛rt♦➧❝✐ ✇ ♠❛❝✐❡r③② ✇③♠♦❝♥✐❡➠
♣r③②➧♣✐❡s③❛ s♣❛❞❛♥✐❡ ❜➟➛❞✉ ❛❧❡ ♥✐❡ ♠❛ ✇♣➟②✇✉ ♥❛ ❦♦➠❝♦✇→ ✐❝❤ ✇❛rt♦➧➣✳

❉❧❛ t②❝❤ s❛♠②❝❤ ♣❛r❛♠❡tró✇ ③❜❛❞❛♥♦ ró✇♥✐❡➺ ♣r③❡♥✐❡s✐❡♥✐❡ st❡r♦✇❛➠ ✇ tr②❜✐❡ ✒♦♥❧✐♥❡✑
❛ ✇②♥✐❦✐ ♣r③❡❞st❛✇✐♦♥♦ ♥❛ ✇②❦r❡s❛❝❤ ✹✳✶✸ ✐ ✹✳✶✹✳ P♦♥♦✇♥✐❡ ❧❡♣✐❡❥ s♣r❛✇❞③❛ s✐➛ ♠♦❞❡❧
✭✸✳✶✮✳ ▼♦❞❡❧ ✭✸✳✷✮ ③❛❝❤♦✇✉❥❡ s✐➛ ❥❡❞♥❛❦ ❧❡♣✐❡❥ ✇ ♣♦ró✇♥❛♥✐✉ ③ tr②❜❡♠ ✒♦✤✐♥❡✑✱ ❣❞②➺
♣♦③♦st❛❥❡ ♥❛ tr❛s✐❡ ✭♠✐♠♦ t♦ ✇ ③❛❦r➛❝✐❡ ❦→t φ2 ♣r③❡❦r❛❝③❛ ❞♦③✇♦❧♦♥❡ ✇❛rt♦➧❝✐✮✳ ❲ tr②❜✐❡
✒♦♥❧✐♥❡✑ ③✇✐➛❦s③❡♥✐❡ ✇❛rt♦➧❝✐ ✇ ♠❛❝✐❡r③② ✇③♠♦❝♥✐❡➠ ♥✐❡ t②❧❦♦ ♣r③②➧♣✐❡s③❛ ③❜✐❡❣❛♥✐❡ ❜➟➛❞✉
❛❧❡ t❛❦➺❡ ③♠♥✐❡❥s③❛ ✐❝❤ ✇❛rt♦➧❝✐ ❦♦➠❝♦✇❡✳

✹✳✸✳✷ ▲✐♥❡❛r②③❛❝❥❛ ❞②♥❛♠✐❝③♥❛

◆❛st➛♣♥✐❡ ♣r③❡t❡st♦✇❛♥♦ ❛❧❣♦r②t♠ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥✳ Pr③②❦➟❛❞♦✇❡ ✇②♥✐❦ ♣r③❡❞✲
st❛✇✐♦♥♦ ♥❛ r②s✉♥❦❛❝❤ ✹✳✶✺ ✐ ✹✳✶✻✳ ❯③②s❦❛♥♦ ❥❡ ♣r③②❥♠✉❥→❝ ♠❛❝✐❡r③❡ ✇③♠♦❝♥✐❡➠ K1 = I5✱
K2 = 0.5I5✱ ③❛❞❛♥② ❦→t θu2d = 0.4✱ ③❡r♦✇❡ st❡r♦✇❛♥✐❛ ♣r♦♠✐❡♥✐❛♠✐✱ ✇❛r✉♥❦✐ ♣♦❝③→t❦♦✇❡
✇ ♣♦st❛❝✐ q(0) = (0, 0.1, 0, 0.4, 0, 0.4, 0, 0.02, 0.02)T ✐ st♦s✉❥→❝ ♣r③❡♥✐❡s✐❡♥✐❡ st❡r♦✇❛➠ ✇ tr②✲
❜✐❡ ✒♦✤✐♥❡✑✳ P♦❞♦❜♥✐❡ ❥❛❦ ✇ ♣r③②♣❛❞❦✉ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ♣r③❡♥✐❡s✐❡♥✐❡ ❞❧❛ ♠♦❞❡❧✉
✭✸✳✶✮ ❞③✐❛➟❛ ❧❡♣✐❡❥ ♥✐➺ ❞❧❛ ♠♦❞❡❧✉ ✭✸✳✷✮✳ P♦♥♦✇♥✐❡ ✇✐❞③✐♠② ♥✐❡❣❛s♥→❝❡ ❞♦ ③❡r❛ ❜➟➛❞② ✇②♥✐✲
❦❛❥→❝❡ ③ ró➺♥✐❝ ♠✐➛❞③② ♠♦❞❡❧❡♠ ✉♣r♦s③❝③♦♥②♠ ✐ ♣❡➟♥②♠✳ ❩✇✐➛❦s③❛♥✐❡ ✇❛rt♦➧❝✐ ✇ ♠❛❝✐❡✲
r③② ✇③♠♦❝♥✐❡➠ ♥✐❡③♥❛❝③♥✐❡ ♣r③②➧♣✐❡s③❛ ③❜✐❡❣❛♥✐❡ ❜➟➛❞ó✇✱ ♣♦✇♦❞✉❥❡ ❥❡❞♥❛❦ ✇③♠❛❝♥✐❛♥✐❡
♦s❝②❧❛❝❥✐✱ ❞♦❞❛t❦♦✇♦ s♣r❛✇✐❛✱ ➺❡ ❜➟→❞ ❦♦➠❝♦✇② s✐➛ ③✇✐➛❦s③❛✳

✹✳✸✳✸ ➅❧❡❞③❡♥✐❡ ➧❝✐❡➺❦✐

❖st❛t♥✐♠ ♣r③❡t❡st♦✇❛♥②♠ ❛❧❣♦r②t♠❡♠ ❥❡st ❛❧❣♦r②t♠ ❙❛♠s♦♥❛✳ ❲ ❝❡❧✉ ③❜❛❞❛♥✐❛ t❡❣♦
❛❧❣♦r②t♠✉ ✇ ♣✐❡r✇s③②♠ ❦r♦❦✉ ✒st✇♦r③♦♥♦✑ ③❛❞❛♥→ ➧❝✐❡➺❦➛ ♣♦♣r③❡③ ♣❛r❛♠❡tr②③❛❝❥➛ ♦❞✲
❧❡❣➟♦➧❝✐→ ❦r③②✇♦❧✐♥✐♦✇→ ✒ós❡♠❦✐✑✳ ◆❛st➛♣♥✐❡ ♣r③②❥♠✉❥→❝ kθu1 = 1✱ kpy = kvy = kpθ =
kvθ = 500✱ ③❛❞❛♥② ❦→t θ = π

2
− 0.4✱ ♣r➛❞❦♦➧➣ v = 0.2✱ ✇❛r✉♥❦✐ ♣♦❝③→t❦♦✇❡ q(0) =

(x(0), y(0), θ0(0), θu1(0), φu1(0), θu2(0), φu2(0)) = (0, 0,−
π
2
, π
2
−0.4, 0, π

2
−0.4, 0)T ♦r❛③ ♣r③❡✲

♥✐❡s✐❡♥✐❡ ✇ tr②❜✐❡ ✒♦✤✐♥❡✑ ♦tr③②♠❛♥♦ ✇②♥✐❦✐ ♣r③❡❞st❛✇✐♦♥❡ ♥❛ r②s✉♥❦❛❝❤ ✹✳✶✼ ✐ ✹✳✶✽✳ ❏❛❦
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➺❡ ❜➟➛❞② ③❜✐❡❣❛❥→ s✐➛ ♣r❛✇✐❡ ❞♦ ③❡r❛✳ ❖❝③②✇✐➧❝✐❡ ③✇✐➛❦s③❡♥✐❡ ✇③♠♦❝♥✐❡➠ ♣r③②➧♣✐❡s③❛ t❡♥
♣r♦❝❡s✱ ❥❡❞♥❛❦ ❜➟➛❞② ♥✐❣❞② ♥✐❡ s♣❛❞❛❥→ ❞♦ ③❡r❛✳





❘♦③❞③✐❛➟ ✺

P♦❞s✉♠♦✇❛♥✐❡

❈❡❧❡♠ ♣r❛❝② ❜②➟♦ r♦③✇✐→③❛♥✐❡ ③❛❞❛♥✐❛ st❡r♦✇❛♥✐❛ ❞❧❛ r♦❜♦t❛ ♥❛♣➛❞③❛♥❡❣♦ ❞✇✐❡♠❛ ✇✐r✉✲
❥→❝②♠✐ ♣ó➟s❢❡r❛♠✐✱ s♣r❛✇❞③❡♥✐❡ ♠♦➺❧✐✇♦➧❝✐ ✐♠♣❧❡♠❡♥t❛❝❥✐ ✐ ❞③✐❛➟❛♥✐❛ ③♥❛♥②❝❤ ❛❧❣♦r②t♠ó✇
st❡r♦✇❛♥✐❛ r♦❜♦t❛♠✐ ♠♦❜✐❧♥②♠✐ ❞❧❛ t❡❣♦ t②♣✉ r♦❜♦t❛ ❛ t❛❦➺❡ ❥❡❣♦ ♣r♦sts③❡❥ ✇❡rs❥✐ ③ ❞✇♦✲
♠❛ s❦r➛t♥②♠✐ ❦♦➟❛♠✐ ♦r❛③ ♣ró❜❛ ♣♦♣r❛✇✐❡♥✐❛ ❧✉❜ ③❛♣r♦♣♦♥♦✇❛♥✐❛ ♥♦✇②❝❤ ❛❧❣♦r②t♠ó✇✳
❲s③②st❦✐❡ t❡ ❝❡❧❡ ③♦st❛➟② ③r❡❛❧✐③♦✇❛♥❡✳

Pr③❡♣r♦✇❛❞③♦♥♦ ✇✐❡❧❡ s②♠✉❧❛❝❥✐✱ ❦tór②❝❤ ❝❡❧❡♠ ❜②➟♦ ③❜❛❞❛♥✐❡ ✐ ♣r③❡t❡st♦✇❛♥✐❡ ③❛♣r♦✲
♣♦♥♦✇❛♥②❝❤ ❛❧❣♦r②t♠ó✇✳ ❖❦❛③❛➟♦ s✐➛ ✐➺✱ ♠✐♠♦ ➺❡ ❧✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛ ♣♦③✇❛❧❛ r♦③✇✐→✲
③❛➣ ③❛❞❛♥✐❡ ➧❧❡❞③❡♥✐❛ ③❛❞❛♥❡❥ tr❛❥❡❦t♦r✐✐ t♦ ♣♦❥❛✇✐❛❥→❝❡ s✐➛ ♦s❝②❧❛❝❥❡ ❝❛➟❦♦✇✐❝✐❡ ✉♥✐❡♠♦➺✲
❧✐✇✐❛❥→ ❥❡❥ ✐♠♣❧❡♠❡♥t❛❝❥➛ ♥❛ r③❡❝③②✇✐st②♠ r♦❜♦❝✐❡✳ P♦❦❛③❛♥♦✱ ➺❡ ❞❧❛ r♦❜♦t❛ s②♠✉❧t❛♥✐❝③✲
♥❡❣♦ r♦③✇✐→③❛♥✐❡♠ ♠♦➺❡ ❜②➣ ✉➺②❝✐❡ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥✱ ❥❡❞♥❛❦ ♥✐❡ s♣r❛✇❞③✐➟❛ s✐➛
♦♥❛ ❞❧❛ ♠♦❞❡❧✉ ♣❡➟♥❡❣♦✳ ❯❞❛➟♦ s✐➛ ♣r③❡❞st❛✇✐➣ s❦✉t❡❝③♥② ✐ ➟❛t✇② ✇ ✐♠♣❧❡♠❡♥t❛❝❥✐ ♥❛✐✇♥②
❛❧❣♦r②t♠ st❡r♦✇❛♥✐❛ ❞❧❛ ♠♦❞❡❧✉ s②♠✉❧t❛♥✐❝③♥❡❣♦✳ ❖st❛t❡❝③♥✐❡ ③❛♣r❡③❡♥t♦✇❛♥♦ ♠♦❞②✜❦❛✲
❝❥➛ ❛❧❣♦r②t♠✉ ❧✐♥❡❛r②③❛❝❥✐ ❞②♥❛♠✐❝③♥❡❥ ✇ ♣♦st❛❝✐ ❛❧❣♦r②t♠✉ ❏P❚❉✳ P♦♣r③❡③ ✉♣r♦s③❝③❡♥✐❡
♠❛❝✐❡r③② G ✉❞❛➟♦ s✐➛ ③❧✐❦✇✐❞♦✇❛➣ ♦s❝②❧❛❝❥❡ ♥✐❡ tr❛❝→❝ ③♥❛❝③→❝♦ ♥❛ ❥❛❦♦➧❝✐ ➧❧❡❞③❡♥✐❛ tr❛✲
❥❡❦t♦r✐✐✳

❑♦❧❡❥♥♦ ③❛♣r❡③❡♥t♦✇❛♥♦ ✐ ③❜❛❞❛♥♦ ❛❧❣♦r②t♠② st❡r♦✇❛♥✐❛ ❞❧❛ ♠♦❞❡❧✉ r♦❜♦t❛ ③❡ s❦r➛t♥②✲
♠✐ ❦♦➟❛♠✐✳ P♦❦❛③❛♥♦ ✐➺ st❡r♦✇❛♥✐❛ ♠♦❣→ t✉ ③♦st❛➣ ♣r③❡♥✐❡s✐♦♥❡ ♥❛ ♠♦❞❡❧ ♣❡➟♥②✳ ▼♦➺❡♠②
t❡❣♦ ❞♦❦♦♥❛➣ ♣r♦sts③→ ♠❡t♦❞→ ✇ tr②❜✐❡ ✒♦✤✐♥❡✑ ❜❡③ ♠♦➺❧✐✇♦➧❝✐ ❦♦r❡❦❝❥✐ ❧✉❜ ③ ✇✐➛❦s③②♠
♥❛❦➟❛❞❡♠ ♦❜❧✐❝③❡♥✐♦✇②♠ ✇ tr②❜✐❡ ✒♦♥❧✐♥❡✑✱ ❝♦ ♣♦③✇❛❧❛ ♥❛ ❜✐❡➺→❝♦ ❦♦r②❣♦✇❛➣ ❜➟➛❞② ✇②✲
♥✐❦❛❥→❝❡ ③ ró➺♥✐❝ ♠✐➛❞③② ♠♦❞❡❧❛♠✐✳

❲❛➺♥②♠ ③❛❞❛♥✐❡♠ ♥❛ ♣r③②s③➟♦➧➣ ❥❡st s♣r❛✇❞③❡♥✐❡ ♦tr③②♠❛♥②❝❤ t✉t❛❥ ✇②♥✐❦ó✇ ♥❛
r③❡❝③②✇✐st②♠ r♦❜♦❝✐❡✳ ◆❛❧❡➺② t❛❦➺❡ ✇②♣r♦✇❛❞③✐➣ ♠♦❞❡❧ ❞②♥❛♠✐❦✐ r♦❜♦t❛✱ ✉✇③❣❧➛❞♥✐➣ ❣♦
✇ s②♠✉❧❛❝❥❛❝❤ ✐ ③❛♣r♦♣♦♥♦✇❛➣ st❡r♦✇♥✐❦✐ ③ ❥❡❣♦ ✇②❦♦r③②st❛♥✐❡♠✳





❘♦③❞③✐❛➟ ✻

❉❧❛ ♣♦t♦♠♥②❝❤

❚❡r❛③ ❛✉t♦r ♥✐♥✐❡❥s③❡❥ ♣r❛❝② ♥❛♣✐s③❡ ❝♦ ♠✉ ♥❛ s❡r❝✉ ❧❡➺②✳ ❚❛❦❛ ♥♦t❦❛ ❞❧❛ ❦♦❣♦➧ ✭♥✐❡ ❥❛✮ ❦t♦
❜➛❞③✐❡ ❦♦♥t②♥✉♦✇❛➟ ♣r❛❝❡ ♥❛❞ r♦❜♦t❡♠ ♠♦❜✐❧♥②♠ ♣♦r✉s③❛❥→❝②♠ s✐➛ ♥❛ ❞✇ó❝❤ ✇✐r✉❥→❝②❝❤

♣ó➟s❢❡r❛❝❤✳ P♦ ♣✐❡r✇s③❡ t❛ ♣r❛❝❛ t♦ ❣➟♦✇♥✐❡ ③❜✐ór r③❡❝③② ❦tór②❝❤ ♥✐❡ ♥❛❧❡➺② r♦❜✐➣✳ ❆❧❡
❞♦ r③❡❝③②✳

▼♦❞❡❧ s②♠✉❧t❛♥✐❝③♥②✳ ❙♣r❛✇❞③✐➟ s✐➛ ❥❛❦♦ ➟❛t✇❡ ✇❡❥➧❝✐❡ ✇ ❤♦❣❣❡r❛✱ ❛❧❡ t♦ ❥✉➺ ❞❧❛ ♥✐❡❣♦
❦♦♥✐❡❝ ♥♦ ❝❤②❜❛✱ ➺❡ ❝❤❝❡s③ t❡➺ ③❛❝③→➣ ♦❞ ❝③❡❣♦➧ ❧➺❡❥s③❡❣♦✳

▼♦❞❡❧ ♣❡➟♥②✳ P♦ ♣✐❡r✇s③❡ ③❛♣♦♠♥✐❥ ♦ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ✐ ❞②♥❛♠✐❝③♥❡❥✳ ❩ t❡❣♦ ♥✐❝
♥✐❡ ❜➛❞③✐❡✳◆✐❡ ✇❛❧❝③ ③ ♦s❝②❧❛❝❥❛♠✐✳ ❆❧❣♦r②t♠ ❏P❚❉ ✭t✉ ♠♦➺❡♠② ③❞r❛❞③✐➣ ♣♦❝❤♦❞③❡♥✐❡
❥❡❣♦ ♥❛③✇②✿ ✒❏❛ ♣✐❡r❞♦❧➛ t♦ ❞③✐❛➟❛✑✮ ③❞❛❥❡ s✐➛ ❜②➣ ♦❞♣♦✇✐❡❞③✐→ ♥❛ ♠♦❞❧✐t✇②✳ ❖❝③②✇✐➧❝✐❡
♥✐❡ ❥❡st t❛❦ ró➺♦✇♦✳ ❉③✐❛➟❛ t②❧❦♦ ③ ♠♦❞❡❧❡♠ ✒♣❤✐✑ ✭✸✳✷✮✱ ❛❧❡ t♦ ❝❤②❜❛ ❞♦❜r❛ ✇✐❛❞♦♠♦➧➣✱ ❜♦
♠♥✐❡❥ r♦❜♦t② ❥❡st✳ ❲st➛♣♥❡ ❜❛❞❛♥✐❛ ✇②❦❛③❛➟②✱ ➺❡ ❞③✐❛➟❛ ❞❧❛ ✇✐➛❦s③♦➧❝✐ ♣r③②♣❛❞❦ó✇ ❛❧❡ t♦
♥❛❧❡➺② ❞❛❧❡❥ s♣r❛✇❞③✐➣✳ ❑♦❧❡❥♥♦ tr③❡❜❛ ③✇ró❝✐➣ ✉✇❛❣➛ ♥❛ s❛♠ ♣♦❝③→t❡❦✱ ❜♦ ♣♦❥❛✇✐❛❥→ s✐➛
s♣♦r❡ ✇❛rt♦➧❝✐ st❡r♦✇❛➠✳ ◆✐❡ ♠♦➺♥❛ t❡➺ ♣r③❡❣✐→➣ ③ ✇③♠♦❝♥✐❡♥✐❛♠✐ ✭♠✐♠♦ ✐➺ ❜➟➛❞② ♠♥✐❡❥s③❡
t♦ ❝♦➧ ♠♦➺❡ ❥❡❜♥→➣✮✳ ▼②➧❧➛✱ ➺❡ ♥❛❧❡➺❛➟♦❜② r♦③♣✐s❛➣ ❝❛➟② ✇③ór ♥❛ st❡r♦✇❛♥✐❡ ✐ ③❛st❛♥♦✇✐➣
s✐➛ ♥❛❞ ♥✐♠✳ ❚♦ ❝♦ ♥❛ ♣❡✇♥♦ ♠♦➺♥❛ ③r♦❜✐➣ ✭s♣r❛✇❞③✐➟❡♠✮✱ t♦ ♣♦ ❧✐❝③❡♥✐✉ ✇③♦ró✇ ♥❛
st❡r♦✇❛♥✐❛ ✭❞♦st❛❥❡♠② ❜❡③♣♦➧r❡❞♥✐♦ st❡r♦✇❛♥✐❛ ♥❛ η1, η2, η4 ✐ ✇③♦r② ♥❛ ♣♦❝❤♦❞♥❡ η̇3, η̇5✮
♠♦➺❡♠② ③❛♠✐❛st r♦③s③❡r③❛➣ ✉❦➟❛❞ ♦ t❡ ♣♦❝❤♦❞♥❡ ✭s→ t♦ ♣♦❝❤♦❞♥❡ st❡r♦✇❛➠ ✇✐r♦✇❛♥✐❛♠✐✮
♣♦ ♣r♦st✉ ♣r③②❥→➣ ➺❡ η3, η5 ♠❛❥→ st❛➟→ ✇❛rt♦➧➣ ♥♦ ❜♦ ♣r③❡❝✐❡➺ ♦ t♦ ♥❛♠ ❝❤♦❞③✐✳ ❲st❛✇✐❛♠②
t❡ ✇❛rt♦➧❝✐ ❞♦ ♣✐❡r✇s③②❝❤ tr③❡❝❤ ✇③♦ró✇ ✭♥❛ η1, η2, η4✮ ❛ ③❛ η3, η5 ♣♦ ♣r♦st✉ ♣r③②❥♠✉❥❡♠②
st❛➟❛ ✇❛rt♦➧➣✳ ❖❝③②✇✐➧❝✐❡ ③♦st❛❥❡ ❦✇❡st✐❛ ✇②③♥❛❝③♥✐❦❛ Kdd✳ ◆✐❜② ❞r✉❣❛ ♣ó➟s❢❡r❛ ♥✐❡ ♠♦➺❡
s✐➛ ✇②♣r♦st♦✇❛➣✱ ❛❧❡ ❥❛❦♦➧ ✇ s②♠✉❧❛❝❥❛❝❤ ✇②❝❤②❧❡♥✐❛ ♣r③❡❧❛t✉❥→ ♣r③❡③ ③❡r♦ ❥❛❦❜② ♥✐❣❞②
♥✐❝✳✳✳ ❆❧❡ ♥❛ ♣❡✇♥♦ r♦❜♦t ♥✐❡ ♠♦➺❡ s✐➛ ③❛tr③②♠❛➣✱ t♦ ③♥❛❝③② ③❛tr③②♠❛ s✐➛ ♣✐❡r✇s③❛ ♣ó➟s❢❡r❛✱
❛❧❡ ❞r✉❣❛ ❜➛❞③✐❡ ✇②✇✐❥❛➣ ❥❛❦ ♦s③❛❧❛➟✱ ✇✐❡❝ ♠♦➺❡ ❥❛❦✐❡➧ st❡r♦✇❛♥✐❡ ③ ♣r③❡➟→❝③❛♥✐❡♠❄

▼♦❞❡❧ ✉♣r♦s③❝③♦♥②✳ ◆♦ t✉ ③❛❝③②♥❛ s✐➛ ③❛❜❛✇❛✳ ◆♦ t♦ ❧❡❝✐♠②✳ ▲✐♥❡❛r②③❛❝❥❛ st❛t②❝③♥❛
♣r③❡♥✐❡s✐❡♥✐❡ ✒♦✤✐♥❡✑✳ ❩❞❡❝②❞♦✇❛♥✐❡ t②❧❦♦ ❞❧❛ ♠♦❞❡❧✉ ✒♣s✐✑ ✭✸✳✶✮✳ ▼♦➺♥❛ t❡➺ s♣ró❜♦✇❛➣
❥❛❦✐❡❣♦➧ ❛❧❣♦r②t♠✉ ❦❛✇❛➟❦❛♠✐ ♣r③❡♥♦s③❡♥✐❛ ✒♦✤✐♥❡✑❄ ❈♦ ❞♦ ♣r③❡♥♦s③❡♥✐❛ ✒♦♥❧✐♥❡✑ t♦ ③❞❛❥❡
s✐➛ ➺❡ ♠♦❞❡❧ ✒♣s✐✑ ✐ t✉t❛❥ ❞③✐❛➟❛ ❧❡♣✐❡❥✱ ❛❧❡ ♦❣ó❧♥✐❡ t♦ ❣ó✇♥♦ ❞③✐❛➟❛✳✳✳ t❛❦ r❛③ ♥❛ ✶✵✳ ◆❛❧❡➺②
♣♦r③→❞♥✐❡ ♣♦❧✐❝③②➣ ♣♦❝❤♦❞♥❡ ♣r③❡❦s③t❛➟❝❡➠ ♦❞✇r♦t♥②❝❤ ③ ✉✇③❣❧➛❞♥✐❡♥✐❡♠ ③♥❛❦ó✇ ✭❥❛❦✐❡
③♥❛❦✐ ♦♣✐s❛➟❡♠ ✇ ✐♥➺✳ ❬✸❪✱ ❝❤②❜❛ ♥❛✇❡t ❞♦❜r③❡✮✳ ❇❛❞❛♥✐❛ ♣♦❦❛③❛➟②✱ ➺❡ st♦s♦✇❛♥✐❡ ♠❛❝✐❡r③②
✇③♠♦❝♥✐❡➠ ✇ ❢♦r♠✐❡ k1I5 ♥✐❡ s♣r❛✇❞③❛ s✐➛✱ ♠✐ ✇②s③➟♦ ➺❡ ❡❧❡♠❡♥t ♦❞♣♦✇✐❡❞③✐❛❧♥② ③❛ θu2
✭❝③②❧✐ ✸✳✮ ♣♦✇✐♥✐❡♥ ❜②➣ ✇✐➛❦s③② ♥❛✇❡t ♦ r③→❞✳

❑♦❧❡❥♥♦ ✇s♣♦♠♥✐❛♥♦ ❣❞③✐❡➧ t❛♠ ✇②➺❡❥✱ ➺❡ ✇ ❧✐♥❡❛r②③❛❝❥✐ st❛t②❝③♥❡❥ ♥✐❡ ❞❛ s✐➛ st❡r♦✲
✇❛➣ ♣r➛❞❦♦➧❝✐❛♠✐ φ̇u1, φ̇u1 ❛❧❡ t♦ ♥✐❡ ❞♦ ❦♦➠❝❛ ♣r❛✇❞❛✳ ◆♦ ③♥❛❝③② ♣r❛✇❞❛✱ ❛❧❡ ➟❛t✇♦ t♦
♥❛♣r❛✇✐❛♠②✳ ❙t♦s✉❥❡♠② ❧✐♥❡❛r②③❛❝❥➛ st❛t②❝③♥→ t②❧❦♦ ❞❧❛ ♣✐❡r✇s③②❝❤ tr③❡❝❤ ✇s♣ó➟r③➛❞♥②❝❤
❧✐♥❡❛r②③✉❥→❝②❝❤ t③♥✳ (x+ dyszel, y + duszel, θu2)T ❛ ❞❧❛ st❡r♦✇❛➠ ♣r♦♠✐❡♥✐❛♠✐ η4, η5 ✇②✲
❜✐❡r❛♠② ♣r♦st② st❡r♦✇♥✐❦ P ✇ ♣♦st❛❝✐ η4 = k1(φ̇u1 − φ̇u1d)✱ ❣❞③✐❡ ③❛ φ̇u1 ♠♦➺♥❛ ✇st❛✇✐➣



✺✵ ✻✳ ❉❧❛ ♣♦t♦♠♥②❝❤

✇③ór ♥❛ η2✳ ❆❧❡ ♦❣ó❧♥✐❡ ♥✐❡ ✇✐❡♠ ❝③② ❥❡st t♦ ✇❛rt❡ ③❛❝❤♦❞✉✳
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✇②❣r②✇❛ ♣r♦st♦t❛✱ ❝③②❧✐ ✇➟❛➧♥✐❡ st❡r♦✇❛♥✐❡ ♥❛✐✇♥❡ ❞♦ ♣♦r✉s③❛♥✐❛ r♦❜♦t❛ ✇ ①✱② ✇ ③❛❞❛♥②♠
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